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ASSISTANT CONSERVATOR OF FORESTS INCLUDED IN GROUP-IA SERVICE IN 
TAMIL NADU FOREST SERVICE - 03/05/2023 

 
1. The six one pillars of scientific temper is ____. 

a. Scientific Research  b. Scientific Action  c. Scientific Movement 
d. Scientific Attitude  e. Answer not known 
mwptpay; czh;tpd; MW J}z;fspy; xd;W 
a. mwptpay; Muha;rp   b. mwptpay; nray;ghL    
c. mwptpay; ,af;fk;   d. mwptpay; kdg;ghd;ik   
e. tpil njhpatpy;iy 
 

2. Which of the following petroleum product act as rust inhibitor additives? 
a. Alkyl nitrates  b. Amino alkyl phosphates c. Zinc dithio phosphates 
d. Ethylene glycol  e. Answer not known 
gpd;tUk; ngl;Nuhypa tpis nghUspy; vJ JU jLg;ghd; Nrh;f;if nghUshf 
nray;gLfpwJ? 
a. My;ify; iel;Nul;Lfs;    b. mkpNdh My;ify; gh];Ngl;Lfs; 
c. rpq;f; iljNah gh];Ngl;Lfs;   d. vj;jpyPd; fpisfhy;   
e. tpil njhpatpy;iy 
 

3. Which of the following act as amphiprotic ions? 
a. H2CO3  b. S2-  c. PO43- d. HS-  e. Answer not known 
gpd;tUtdtw;Ws; vJ <hpay;G GNuhl;bf; madpahf nray;gLk;? 
a. H2CO3  b. S2-  c. PO43- d. HS-  e. tpil njhpatpy;iy 
 

4. Which of the following are correct? 
The condition at which the amplifier behaves as an oscillator is 
(i) Amplifier should have a positive feedback 

(ii) A = 1 

(iii) A = 0 
(iv) Amplifier should have a negative feedback 
a. (i) and (ii) are correct  b. (i) and (iii) are correct c. (ii) and (iv) are correct 
d. (iii) and (iv) are correct  e. Answer not known 
fPo;f;fhz;gtw;Ws; vit rhpahdit? 
ngUf;fp miyapaw;wpahf nray;glj; Njitahd epge;jidfs;. 
(i) ngUf;fpahdJ Neh; gpd;D}l;lj;ijf; nfhz;bUf;f Ntz;Lk; 

(ii) A = 1 

(iii) A = 0 
(iv) ngUf;fpahdJ vjph;kpd;D}l;lj;ijf; nfhz;bUf;f Ntz;Lk; 
a. (i) kw;Wk; (iv) rhp  b. (i) kw;Wk; (iii) rhp   

c. (ii) kw;Wk; (iv) rhp  d. (iii) kw;Wk; (iv) rhp   
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e. tpil njhpatpy;iy 
 

5. The colours exhibited in soap bubbles due to the ____ of light. 
a. Reflection   b. Refraction   c. Interference 
d. Diffraction   e. Answer not known 
Nrhg;G Fkpo;fspy; tz;zk; Njhd;Wtjw;F xspapd; _________ gad;gLfpwJ. 
a. vjpnuhspg;G   b. CLUty;   c. FWf;fPl;L tpisT 
d. tpspk;G tpisT  e. tpil njhpatpy;iy 

 
6. Which among the following is known as “Terror of Bengal”? 

a. Algal Bloom   b. Eichhornia Plant  c. Increased BOD 
d. Eutrophication   e. Answer not known 
gpd;tUtdtw;wpy; “tq;fhs gaq;futhjp” vd miof;fg;gLtJ vJ? 
a. ghrp G+f;fs;    b. INfhh;dpah jhtuk;   
c. cah;e;j caphpay; Mf;]p[d; Njit d. Cl;l tsk; kpFj;jy;   
e. tpil njhpatpy;iy 

 
7. _____ is the dynamic process by which an organism maintains and control its internal 

environment despite disturbances from external forces. 
a. Hemostasis   b. Peristasis   c. Homeostasis 
d. Peristalsis    e. Answer not known 
___________ vd;gJ xU khWk; nray;KiwahFk;> ,jd;%yk; xU cahpdk; mjd; cs; 
#oiy ntspg;Gw rf;jpfsplkpUe;J njhe;juTfs; ,Ue;NghjpYk; guhkhpf;fpwJ kw;Wk; 
fl;Lg;gLj;JfpwJ.  
a. `pkh];l]p];  b. nghp];l]p];  c. N`hkpNah];l]p]; 
d. nghp];lyp]p];  e. tpil njhpatpy;iy 

 
8. The excess quantities of ____ leads to cause of Breast Cancer in our body. 

a. Melatonin    b. Diapause    c. Serotonin 
d. Adrenin    e. Answer not known 
ekJ clypy; ___________ mjpfk; cUthtjhy; khh;gf Gw;WNeha; Vw;gLfpwJ. 
a. nkyNlhdpd;   b. ilagh];  c. nruNlhdpd;  
d. ml;hPdpd;   e. tpil njhpatpy;iy 

 
9. Which of the following statement is/are incorrect? 

(i) Pyramids of energy shape is always upright. 
(ii) Nilgiris bioreserve covering Tamil Nadu, Kerala and Karnataka States. 
(iii) Namdapha bioreserve is located in Andhra Pradesh. 
(iv) Nandadevi bioreserve is located in Utter Pradesh. 
a. (i) and (ii) only   b. (iii) only   c. (iv) only 
d. (ii) and (iii) only   e. Answer not known 
gpd;tUtdtw;wpy; jtwhd $w;wpidj; Njh;e;njLf;fTk; 
(i) Mw;wypd; gpukpL vg;nghOJk; Neuhf fhzg;gLk;. 
(ii) ePyfphp caph;f;Nfhs fhg;gfk; jkpo;ehL> Nfush> fh;ehlfk; Mfpa khepyq;fspy; gutp 
cs;sJ. 
(iii) ek;jgh caph;f;Nfhs fhg;gfk; Me;jpug; gpuNjrk; khepyj;jpy; cs;sJ. 
(iv) ee;jh Njtp caph;f;Nfhs fhg;gfk; cj;jpug;gpuNjr khepyj;jpy; mike;Js;sJ.  
a. (i) kw;Wk; (ii) kl;Lk;  b. (iii) kl;Lk;  c. (iv) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
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10. ‘Thinking out of box’ is related to 
(i) Logical Thinking 
(ii) Creative Thinking 
(iii) Critical Thinking 
(iv) Analyzing Ability 
a. (i) and (iii) only   b. (ii) only   c. (iv) only 
d. (i), (ii) and (iii) only  e. Answer not known 
ngl;bf;F ntspNa rpe;jid vjDld; njhlh;GilaJ? 
(i)jh;f;f hPjpapyhd rpe;jid   
(ii) gilg;ghw;wy; rpe;jid   
(iii) tpkh;rd rpe;jid    
(iv) gFg;gha;T jpwd; 
a. (i) kw;Wk; (iii) kl;Lk;  b. (ii) kl;Lk;   c. (iv) kl;Lk;   
d. (i)> (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 
 

11. Ammonia is prepared by 
a. Solvay’s process   b. Haber’s process  c. Deacon process 
d. Mulliken process   e. Answer not known 
mNkhdpah ____________ Kiwapy; jahhpf;fg;gLfpwJ 
a. rhy;Nt Kiw  b. N`gh; Kiw   c. Bfhd; Kiw 
d. Ky;ypfd; Kiw  e. tpil njhpatpy;iy 
 

12. India’s first fertilizer plant was setup at 
a. Ballarpur    b. Sindri   c. Belagola 
d. Rajahmundry   e. Answer not known 
,e;jpahtpd; Kjy; cu Miy ____________ apy; epWtg;gl;lJ 
a. ghyh;G+h;    b. rpe;jphp   c. ngyNfhyh 
d. uh[Ke;jphp    e. tpil njhpatpy;iy 
 

13. Kepler’s second law of planetary motion is also known as 
a. law of unequal velocity  b. law of equal momentum  c. law of equal area 

d. law of inertia   e. Answer not known 
Nfhs;fspd; ,af;fk; gw;wpa nfg;shpd; ,uz;lhk; tpjp ___________ vdTk; mwpag;gLk; 
a. rkr;rPuw;w jpirNtf tpj  b. rk ce;j tpjp    
c. rk gug;G tpjp    d. epiyk tpjp  

e. tpil njhpatpy;iy 
 

14. Assertion (A): Light incident on a surface at a polarising angle 40 will have the 

    same angle of incidence 40. 
Reason (R):  Polarising angle is the angle of incidence for which the reflected 
    light is completely plane polarized. 
a. (A) is true but (R) is false 
b. (A) is false; (R) is true 
c. Both (A) and (R) are true; and (R) is the correct explanation of (A) 
d. Both (A) and (R) are false 
e. Answer not known 
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$w;W (A): xU jsj;jpd; kPJ tpOk; xspapd; jstpisT Nfhzj;jpd; kjpg;G 40 

vdpy;> gLNfhzj;jpd; kjpg;Gk; 40 MFk; 
fhuzk; (R): jstpisTf; Nfhzk; vdg;gLtJ> ve;jnthU gLNfhzj;jpd; kjpg;gpw;F 
gpujpgypf;fg;gl;l fjpuhdJ KOtJk; jstpisTw;w xspahf ,Uf;Fk;. 
a. (A) rhp Mdhy; (R) jtW   
b. (A)jtW Mdhy; (R) rhp   
c. (A) kw;Wk; (R) ,uz;Lk; rhp; kw;Wk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk; 
d. (A) kw;Wk; (R) ,uz;Lk; jtW   
e. tpil njhpatpy;iy 
 

15. The binary number 110000111101 corresponds to a hexadecimal number  
a. CFD16 b. D3C16 c. DBF16 d. C3D16 e. Answer not known 
igdhp vz; 110000111101 xU n`f;]hnlrpky; vz;Zf;F xj;jpUf;fpwJ fz;lwpf.  
a. CFD16 b. D3C16 c. DBF16 d. C3D16 e. tpil njhpatpy;iy 
 

16. The first Old Stone Age tool was discovered at Pallavaram in Tamil Nadu by 
a. Robert Bruce Foote  b. Alexander Flemming  c. Joseph Prestwich 
d. Henry Geoghegan  e. Answer not known 
jkpo;ehl;by; gy;yhtuj;jpy; Kjd;Kjypy; gioa fw;fhyf; fUtpia fz;Lgpbj;jth; 
a. ,uhgh;l; G&]; /G+l;  b. mnyf;rhz;lh; gpnsk;kpq;   
c. N[hrg; hp];l;tp~;   d. n`d;wp [pNahfpad;   
e. tpil njhpatpy;iy 
 

17. Where a large number of polished stone cults are found in Tamil Nadu. 
a. Paiyampalli   b. Pudukkottai  c. Tirunelveli 
d. Tiruvannamalai   e. Answer not known 
jkpofj;jpy; vq;F totog;ghf;fg;gl;l fw;fUtpfs; ngUkstpy; fpilj;jd? 
a. igak;gs;sp  b. GJf;Nfhl;il  c. jpUney;Ntyp 
d. jpUtz;zhkiy  e. tpil njhpatpy;iy 
 

18. ____ travelled to Soviet Union and was admired by its speedy progress through five 
year plans and through the application of modern science and technologies. 
a. Singaravelu  b. Jeevanandam  c. Pandit Jawaharlal Nehru 
d. E.V. Ramaswamy e. Answer not known 
_________d; Nrhtpaj; Adpad; gazj;jpd; %yk; me;ehL Ie;jhz;Lfs; jpl;lq;fs; 
kw;Wk; etPd mwtpay; kw;Wk; njhopy;El;gk; %yk; mjpNtf tsh;r;rp ngw;wijg; 
ghh;j;jhh;.  
a. rpq;fhuNtyd;  b. [Pthee;jk;  c. gz;bj [t`h;yhy; NeU 
d. E.V. ,uhkrhkp  e. tpil njhpatpy;iy 
 

19. Find the compound interest on Rs. 3,200 at 2.5% p.a. for 2 years, compounded annually 
a. Rs. 148   b. Rs. 162   c. Rs. 157   
d. Rs. 165   e. Answer not known 
&.3>200 ,f;F 2.5% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; fzf;fplg;gLk; 
Kiwapy;> 2 Mz;LfSf;F> fpilf;Fk;  $l;L tl;biaf; fhz;f 
a. Rs. 148   b. Rs. 162   c. Rs. 157   
d. Rs. 165   e. tpil njhpatpy;iy 
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20. What number will represent A in the following pattern? 
2, 5, 11, 23, A 
a. 43  b. 45  c. 47  d. 49  e. Answer not known 
2> 5> 11> 23> A - ,j;njhlhpy; A ve;j vz;izf; Fwpf;Fk;? 
a. 43  b. 45  c. 47  d. 49  e. tpil njhpatpy;iy 
 

21. The Editor of Desabhaktan was 
a. V.O. Chidambaram  b. S. Satyamurthi  c. Thiru Vi. Ka 

d. Bharathiyar   e. Answer not known 
Njrgf;jdpd; Mrphpah; 
a. t. c. rpjk;guk;   b. r. rj;jpa%h;j;jp  c. jpU. tp. f 
d. ghujpahh;    e. tpil njhpatpy;iy 
 

22. Dr. Muthulakshmi was the first woman legislator in India because of 
a. Minto Morley Reforms    b. Montague Chelmsford Reforms 
c. Resolution of 1921    d. Government of India Act of 1935 
e. Answer not known 
,e;jpahtpd; Kjy; ngz; rl;lkd;w cWg;gpdh; vd;w Kiwapy; Dr. Kj;Jyl;Rkp 
Njh;e;njLf;fg;gl;ljw;fhd fhuzj;ij vOJf. 
a. kpz;Nlh khh;yp rPh;jpUj;jq;fs;  b. khz;NlF nrk;];Nghh;L rPh;jpUj;jq;fs; 
c. ftpd;rpy; jPh;khdk; 1921   d. ,e;jpa muR rl;lk; 1935    
e. tpil njhpatpy;iy 
 

23. ________ was a doctor who organised the underground activities and even operated a 
wireless station during Quit India Movement. 
a. Ammu Swaminathan    b. Krishna Bai Nimbkar 

c. Devaki Ammal    d. Manjubashini Subramanian 
e. Answer not known 
_________ xU kUj;JtuhfTk; kw;Wk; Mq;fpNyNa murhq;fj;jpw;F vjpuhd ,ufrpa 
eltbf;iffspy; <Lgl;Lk; kw;Wk; fk;gpapy;yhj je;jp ikaj;ijAk; elj;jpdhh;. 
a. mk;K Rthkpehjd;  b. fpU~;zgha; epk;g;fh; c. Njtfp mk;khs; 
d. kd;[{gh~pdp Rg;ukzpak; e. tpil njhpatpy;iy 
 

24. Vira Pandiya Kattabomman was the one who fought against the British, hanged to 
death at 
a. Kayattaru    b. Nagalapuram  c. Pudukkotai 
d. Panchalankurchi   e. Answer not known 
Mq;fpNyah;fSld; rz;ilapl;l tPughz;ba fl;lnghk;kd; J}f;fpyplg;gl;l ,lk; 
a. faj;jhW   b. ehfyhGuk;   c. GJf;Nfhl;il 
d. ghQ;rhyFwpQ;rp  e. tpil njhpatpy;iy 

 
25. Match the following and choose the correct answer from the codes given below: 

A. Neelakanda Brammachari  1. Ananda Vikadan 
B. G.A. Natesan    2. Suryodhyam 
C. R. Krishnamoorthy   3. Thinamani 
D. T.S. Chokalingam   4. Indian Review 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
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c. 2 1 4 3 
d. 2 4 3 1 
e. Answer not known 
fPo;fz;ltw;iw nghUj;jp rhpahd tpilia FwpaPLfspypUe;J Njh;T nra;f 
A. ePyfz;l gpuk;kr;rhp  1. Mde;j tpfld; 
B. [p.V. eNlrd;   2. #hpNahjak; 
C. uh. fpU~;z%h;j;jp  3. Jpdkdp 
D. b.v];. nrhf;fypq;fk;  4. ,e;jpad; hptpA+ 
A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 2 1 4 3 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

26. “Even weak ones mightily prevail, _____ 
____, ____ offence” 
What is the advice of Thiruvalluvar even a weak king to conquer his enemies? 
a. To a mass gold and money 
b. To find appropriate place and protect 
c. To charity, meditate/penance 
d. To remove weakness to be an ambassador 
e. Answer not known 
Mw;whUk; Mw;wp mLg _______  
______, ______ nrapd; 
Nkw;fhZk; jpUf;Fws; %yk; typik mw;wtd; $l giftiu nty;y ts;Sth; $Wk; 
mwpTiufs; ahit? 
a. epiwa nghd;> nghUs; Nrh;j;jy;   
b. ,ld; mwpjy;> jw;fhj;jy; 
c. jhdk;> jtk; nra;jy; 
d. gpwh; Fiw fisjy;> J}J nry;yy;   
e. tpil njhpatpy;iy 
 

27. Serathu iyalvathu naadu.. 
What are the 3 evils that perter the people who live according to the Kural that ends 
like this: 
a. Poverty, Illiteracy, Unemployment 
b. Hunger, Starvation, Famine 
c. Hunger, disease, Enmity 
d. Rain, Sun, Frost 
e. Answer not known 
‘NruhJ ,ay;tJ ehL’ – vd KbAk; Fwspy; ehl;by; thOk; caph;fis tUj;Jk; 
%d;W jPikfshf ts;Sth; Rl;Ltd ahit? 
a. tWik> mwptpd;ik> Ntiyapd;ik   
b. grp> gl;bdp> gQ;rk;   
c. grp> gpzp> gif 
d. kio> ntapy;> gdp   
e. tpil njhpatpy;iy 
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28. Thiruvalluvar says one should never do the deed that sages condemn in any 
circumstance. 
What is the circumstance referred to here? 
a. When suffering under diseases  
b. When not able to Study 
c. When not able to earn money 
d. When your mother is starving 
e. Answer not known 
rhd;Nwhh; gopf;Fk; tpidia ve;epiyapYk; nra;jy; $lhJ vd;fpwhh; ts;Sth; 
ve;epiyia Fwpg;gpLfpwhh;? 
a. Nehahy; thLk; fhyj;jpy;   
b. fy;tp fw;f ,ayhj epiyapy;   
c. nghUs; <l;l Kbahj epiyapy; 

d. jha; grpahy; thLk;  
e. tpil njhpatpy;iy 
 

29. According to Thiruvalluvar which one of the following saves us from all disasters? 
a. Education   b. Knowledge  c. Gold 
d. Wealth   e. Answer not known 
midj;J moptpypUe;Jk; fhf;Fk; fUtp vJntdj; jpUts;Sth; Fwpg;gpfpwhh;? 
a. fy;tp  b. mwpT  c. nghd;  
d. nry;tk;  e. tpil njhpatpy;iy 
 

30. What is the meaning of ‘Aaru’ in Aatruppadai literature? 
a. One who guides others  b. River  c. Gift 
d. Patron    e. Answer not known 
Mw;Wg;gil ,yf;fpaj;jpy; $wg;gl;Ls;s “MW” vd;why; vd;d? 
a. xUth; kw;wtUf;F top nrhy;Yjy; b. MW   c. ghpR  
d. Gutyd;     e. tpil njhpatpy;iy 
 

31. “Peyakandu Nanjundu amaivar nayathakka 
N a garigam Vendubavar” 
These lines occur in 
a. Nattrinai   b. Akananuru  c. Kurunthogai 
d. Purananuru  e. Answer not known 
ngaf;fz;L eQ;Rz; likth; eaj;jf;f  
ehfpfk; Ntz;L gth; - vDk; thpfs; ,lk;ngWk; E}y; 
a. ew;wpiz    b. mfehD}W   c. FWe;njhif 
d. GwehD}W   e. tpil njhpatpy;iy 

(This question and answer are to be placed before the expert committee for final 
decision) 

 
32. What does “Oppuravu” (Duty to society) in Thirukkural mean? 

a. Cleanliness (Thooyimai)   b. Comparatives (Uvamai) 
c. Integrity (Vaaimai)   d. Aide (Udhavi) 
e. Answer not known 
jpUf;Fwspy; ‘xg;GuT’ – vd;gjd; nghUs; ahJ? 
a. J}a;ik   b. ctik  c. tha;ik 
d. cjtp  e. tpil njhpatpy;iy 
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33. Falsehood may take the place of truthful word, 
As per the above Thirukkural when can falsehood be considered to take the place of 
truthful word. 
a. when falsehood can produce blameless good 
b. when it does nothing good 
c. when it does evil 
d. when falsehood is uttered in anger 
e. Answer not known 

 ngha;k;ikAk; tha;ik ,lj;J> vg;NghJ? 
a. GiujPh;e;j ed;ik gaf;Fk;NghJ   
b. ed;ik tpisahjNghJ   
c. jPik tpisAk;NghJ 
d. nghWik ,oe;jNghJ   
e. tpil njhatpy;iy 
 

34. ‘Nanba Unakku Oru Venba” – what is the meaning of this line by Vairamuthu? 
a. AIDS Awareness   b. Significance of love   
c. Social upliftment   d. Significance of friendship 
e. Answer not known 
‘ez;gh cdf;nfhU ntz;gh’ – vd;Dk; ituKj;J ftpij czh;j;Jk; ghLnghUs;  
a. va;l;]; tpopg;Gzh;T  b. fhjypd; rpwg;G  c. r%f Kd;Ndw;wk; 
d. el;gpd; rpwg;G   e. tpil njhpatpy;iy 
 

35. Who is the author of play “Baliyaadugal”? 
a. Pralayan    b. Mangai   c. Veli.Rengarjan   
d. K.A. Gunasekaran e. Answer not known 
“gypahLfs;” ehlf Mrphpah; ahh;? 
a. gpusad;    b. kq;if    c. ntsp. uq;fuh[d; 
d. Nf.V. FzNrfud;  e. tpil njhpatpy;iy 
 

36. Choose the correctly matched pairs:  
1. Bharathidasan   - Kuyil Pattu 
2. Thiru Vi.Kalyana Sundaram - The Navasakthi 
3. Subramaniya Siva  - Editor of Swedeshamitran 
4. Jeevanandam   - Mookkandi 
a. 1 and 2 are correct  b. 1 and 4 are correct c. 2 and 3 are correct 
d. 2 and 4 are correct  e. Answer not known 
rhpahf nghUe;jpAs;stw;iw Njh;e;njLf;fTk;. 
1. ghujpjhrd;    - Fapy;ghl;L 
2. jpU.tp. fy;ahz Re;juk;  - etrf;jp 
3. Rg;gpukzpa rpth   - RNjrkpj;jpudpd; gjpg;ghrphpah; 
4. [Pthdj;jk;    - %f;fhz;b 
a. 1 kw;Wk; 2 rhp  b. 1 kw;Wk; 4 rhp   c. 2 kw;Wk; 3 rhp 
d. 2 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
 

37. Choose the right pairs:  
1. Colonel Maxwell  - Maruthu Brothers 
2. Collector W.C. Jackson - Kattabomman 
3. Colonel Agnew  - Gopal Nayak 
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4. Colonel Innes  - Velu Nachiyar 
a. 1 and 2 are correct b. 3 and 4 are correct  c. 2 and 3 are correct 
d. 1 and 4 are correct e. Answer not known 
rhpahdtw;iwj; Njh;e;njLf;f. 
1. fh;dy; khf;];nty; - kUJ rNfhjuh;fs; 
2. Ml;rpah; W.C. [hf;rd; - fl;lnghk;kd; 
3. fh;dy; mf;dpA+  - Nfhghy; ehaf; 
4. fh;dy; ,d;dp];  - NtYehr;rpahh; 
a. 1 kw;Wk; 2 rhp   b. 3 kw;Wk; 4 rhp   c. 2 kw;Wk; 3 rhp  
d. 1 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
 

38. Which are the correct statements about Jeevanandam? 
(i) Jeevanadam founded an ashram Unmai Vilakka Nilayam 
(ii) He did not participated in the temple entry struggle at Susindram 
(iii) Jeevanadam did not establish Gandhi ashram in Siruvayal 
(iv) He was involved in Vaikkom  Struggle 
a. (i) and (iv) only  b. (iii) and (iv) only  c. (ii) and (iii) only 
d. (i) and (iv) only  e. Answer not known 
[Pthde;jk; Fwpj;j jfty;fspy; rhpahdit 
(i) [Pthde;jk; “cz;ik tpsf;f epiyak;” vd;Dk;  Mrphpkj;ij Njhw;Wtpj;jhh; 
(ii) ,th; RrPe;jpuj;jpy; eilngw;w Nfhapy; EioTg; Nghul;lj;jpy; fye;J nfhs;stpy;iy 
(iii) [Pthde;jk; fhe;jp Mrpukj;ij rpWthaypy; epWttpy;iy 
(iv) ,th; itf;fk; Nghuhl;lj;jpy; <Lgl;lhh;  
a. (i) kw;Wk; (ii) kl;Lk;  b. (iii) kw;Wk; (iv) kl;Lk;   
c. (ii) kw;Wk; (iii) kl;Lk;  d. (i) kw;Wk; (iv) kl;Lk;    
e. tpil njhpatpy;iy 
 

39. Match the following with regard to Self Respect Moverment: 
A. Gudiyatham Self Respect Meeting 1. R. Chinnai 
B. 2nd Self Respect Conference  2. Altonshalash 
C. Christian Conference   3. Abdul Khareem Shahib 
D. Satyagraha Committee   4. MR. Jayakar 

A B C D 
a.  3 4 2 1 
b. 1 3 4 2 
c. 3 2 1 4 
d. 1 4 2 3   
e. Answer not known 
Rakhpahij ,af;fj;jpy; fPo;tUtdtw;iw nghUj;Jf. 
A. Fbahj;jk; Rakhpahij $l;lk;  1. R. rpd;dad; 
B. ,uz;lhtJ Rakhpahij khehL 2. my;Nlhd;];yhy;~; 
C. fpwp];Jt khehL   3. mg;Jy; fhPk; ~hfpg; 
D. rj;jpahfpuf fkpl;b   4. MR. n[afh; 

A B C D 
a.  3 4 2 1 
b. 1 3 4 2 
c. 3 2 1 4 
d. 1 4 2 3 
e. tpil njhpatpy;iy 
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40. In 1925, E.V. Ramaswamy started the self-respect movement.  
(i) The aim of the movement was the promotion of rational thinking, self-respect and 
self-confidence in the people. 
(ii) It enable them to enjoy the benefits of political and social freedom 

 Which statement is correct? 
 a. (i)     b. (ii)    c. (i) and (ii)    

d. None of the above  e. Answer not known 
1925k; Mz;L <.nt. uhkrhkp Rakhpahij ,af;fj;ijj; Jtf;fpdhh; 
(i) ,e;j ,af;fj;jpd; Kf;fpa Nehf;fkhdJ kf;fspilNa Rakhpahij> Ra ek;gpf;if 
kw;Wk; Gul;rpfukhd rpe;jidfis tsh;g;gJ 
(ii) murpay; kw;Wk; rKjha tpLjiy eyd;fis mDgtpg;gJ 
ve;jf; $w;W rhpahdJ? 
a. (i)     b. (ii)    c. (i) kw;Wk; (ii) 
d. vJTkpy;iy   e. tpil njhpatpy;iy 
 

41. Name the person who established on Ashram in Nandhi Hills after his Political 
participation. 
a. Sir Sankaran  b. Nilakanda Brahmachari c. S.S. Chidambaram 
d. Sathiya Moorthi  e. Answer not known 
ee;jp kiyapy; ahh; jdJ murpay; tho;tpw;F gpwF Mrpukj;ij epWtpaJ 
a. rh; rq;fud;   b. ePyfz;l gpuk;kr;rhp  c. S.S. rpjk;guk; 
d. rj;jpa%h;j;jp  e. tpil njhpatpy;iy 
 

42. Which one of the following is not a part of Thirukkural? 
a. Not to drink liquor  b. Sin   c. Poverty 
d. The word ‘Tamil’  e. Answer not known 
gpd;tUtdtw;Ws; jpUf;Fwspy; ,lk; ngwhjJ 
a. fs;Sz;zhik    b. Co;  c. tWik 
d. jkpo; vd;w nrhy;   e. tpil njhpatpy;iy 
 

43. Name the person who presided over the nineth conference of the Madras constituency 
of the All India women’s Conference of the year 1934. 
a. Dr. Muthulakshmi Reddy  b. Mrs. Margaret Cousins 
c.  Begum Shareegah Hamid Ali  d. Mrs. Annie Besant  
e. Answer not known 
1934k; Mz;L nkl;uh]; njhFjpapy; eilngw;w xd;gjhtJ ngz;fs; khehl;Lf;F 
jiyik jhq;fpa ngz;kzpapd; ngaiuf; Fwpg;gpLf. 
a. lhf;lh;. Kj;Jnyl;rkp nul;b  b. jpUkjp. khh;f;nful; frpd;];   
c. Ngfk; rhpgh `kpj; myp   d. jpUkjp. md;dpngrd;l;   
e. tpil njhpatpy;iy 
 

44. Find out the False Statement regarding Gupta Art. 
1. Gupta Artists were normal and natural 
2. There was a keen sense of aesthetic culture 
3. Nudity is entirely eliminated 
4. Not based on religious and spiritual ideals 
a. 1, 2 and 3 are True, 4 is False  b. 2, is True, 1, 3 and 4 are False 

c. 3, is True, 1, 2 and 4 are false  d. 4 is True, 1, 2 and 3 are false 
e. Answer not known 
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gpd;tUk; Fg;jh; fiyapy; jtwhd Fwpg;ig Njh;e;njL 
1. Fg;j fiyQh;fs; ,ay;ghdth;fs;> ,aw;if epiy khwhjth;fs; 
2. mq;Nf $hpa moFzh;r;rpAila fyhr;rhuk; ,Ue;jJ 
3. eph;thzk; mq;Nf Kw;wpYkhf xopf;fg;gl;lJ 
4. kjk; kw;Wk;; Md;kPfk; rhh;e;jJ my;y 
a. 1> 2 kw;Wk; 3 rhp> 4 jtW   b. 2> rhp> 1> 3 kw;Wk; 4 jtW    
c. 3 rhp> 1> 2 kw;Wk; 4 jtW  d. 4 rhp> 1> 2 kw;Wk; 3 jtW   
e. tpil njhpatpy;iy 
 

45. What is the First Explanatory writer among the four for the book Thirukkural? 
a. Dharmar   b. Parimelazhakar  c. Mu.Va. 
d. Manakkudavar  e. Answer not known 
jpUf;Fws; ciuahrphpah;fSs; Kjyhkth; ahh;? 
a. jh;kh;   b. ghpNkyofh;  c. K.t 
d. kzf;Flth;  e. tpil njhpatpy;iy 
 

46. A tender flower (Anitcha) withers when one breaths even Identify the meaning for the 
term “Anitcham” from the following: 
a. A fruit   b. An unripe fruit  c. A Tender flower  
d. Flower   e. Answer not known 
“Nkhg;gf; FioAk; mdpr;rk;…” 
,f;Fwspy; mdpr;rk; vd;gJ vjidr; Rl;Lk;. 
a. gok;  b. fha;  c. nkhl;L 
d. kyh;  e. tpil njhpatpy;iy 

 
47. “The term “Virtue” has got eight different meanings in Tamil”. Find out the author of 

the statement. 
a. Thirukkural Munusami   b. Mu. Varatharajan  
c. K.T. Thirunaavukkarasu  d. Kavingnar Vairamuthu 
e. Answer not known 
‘mwk;’ vd;Dk; nrhy;ypw;Fj; jkpopy; vl;L tifahd nghUs;fs; toq;fp tUfpd;wd. 
vd;W $wpath;  
a. jpUf;Fws; KDrhkp  b. K. tujuhrdhh;  c. f.j. jpUehTf;fuR 
d. ftpQh; ituKj;J  e. tpil njhpatpy;iy 
 

48. What is the Tamil Name for “Haikku” poem? 
a. Seyyul   b. Pudhukkavithai  c. Kurumappa 
d. Vasanakavithai  e. Answer not known 
i`$ ftpijapd; jkpo;g; ngah; vd;d? 
a. nra;As;    b. GJf;ftpij  c. FWk;gh 
d. trdftpij  e. tpil njhpatpy;iy 
 

49. Who is the Author of the Novel “Malarum Sarukum”? 
a. Agilan   b. D. Selvaraj   c. N. Parthasarathy 
d. Jayakanthan  e. Answer not known 
‘kyUk; rUFk;’ – vd;Dk; ehtypd; Mrphpah; ahh;? 
a. mfpyd;    b. b. nry;tuh[;  c. eh. ghh;j;jrhujp 
d. n[afhe;jd;  e. tpil njhpatpy;iy 
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50. According to Thirumoolar one should control his five senses like a 
a. Lion   b. Elephant  c. Tortoise 
d. Earthworm  e. Answer not known 
vjidg; Nghd;W ‘Ik;Gyd;fis mlf;f Ntz;Lk;’ vd;fpwhh; jpU%h;? 
a. rpq;fk;    b. ahid   c. Mik 
d. kz;GO   e. tpil njhpatpy;iy 

 
51. On what basis did this case arise? 

“Yaayaiyum Paadi Kovai Paadu” 
(Sing all the songs then sing Kovai) 
a. Uyarvana Ilakkiyam (High class literature) 
b. Kadavulodu Thodarbupaduthuvathu (Communication with God) 
c. Kadina Ilakkiya vagai (The genre of hard literature) 
d. Payirchi Iruthal veandum (Practice is must) 
e. Answer not known 
“ahiaAk; ghbf; Nfhit ghL” 
- vd;w tof;F vjdbg;gilapy; Njhd;wpaJ? 
a. cah;thd ,yf;fpak;   
b. flTNshL njhlh;GgLj;JtJ   
c. fbd ,yf;fpa tif 
d. gapw;rp ,Ue;jy; Ntz;Lk; 
e. tpil njhpatpy;iy 
 

52. Who sang the Holy verse “Paavai Padia Vaayaal Kovai”? 
(The singing mouth of woman changes to sing on God) 
a. Thirugnana Sambanthar  b. Thirunavukkarasar 
c. Sundharar    d. Manickkavasakar 
e. Answer not known 
‘ghit ghba thahy; Nfhit’ ghbath; ahh;? 
a. jpUQhdrk;ge;jh;   b. jpUehTf;furh;   c. Re;juh; 
d. khzpf;fthrfh;   e. tpil njhpatpy;iy 
 

53. Srilankan tamil professor K. Sivathambi says the characteristics of Semmozhi (Classical 
Tamil Language) are ________, ________, __________ 
a. Antiquity, Continuity, Richness  b. Antiquity, excellence, individuality 
c. Antiquity, naturalness, individuality  d. Antiquity, continuity, excellence 
e. Answer not known 
,yq;ifj; jkpo;g; Nguhrphpah; fh. rptj;jk;gp nrk;nkhopg; gz;Gfshff; Fwpg;gpLtd 
a. njhd;ik> njhlh;r;rp> nrOik tsk; b. njhd;ik> tpOkpak;> jdpj;jd;ik 
c. njhd;ik> ,aw;if> jdpj;jd;ik d. njhd;ik> njhlh;r;rp> tpOkpak;   
e. tpil njhpatpy;iy 
 

54. “Vaiyagam panippa valanerbu valaiip” 
- Which Pathupattu song begins with this line? 
(unfailing clouds climbed to the right…) 
a. Nedunalvaadai  b. Kurunchippattu  c. Mullaippattu 
d. Pattinappalai  e. Answer not known 
‘itafk; gdpg;g tyNdh;G tis,’ 
vdj; njhlq;Fk; gj;Jg;ghl;L ,yf;fpak; 
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a. neLey;thil  b. FwpQ;rpg;ghl;L   c. Ky;iyg;ghl;L 
d. gl;bdg;ghiy  e. tpil njhpatpy;iy 
 

55. Identify from the following one head ornament of the women wear on the hair during 
the Sangam Period. 
a. Toyyakam   b. Pullakam  c. Vayantakam  
d. Valampuri   e. Answer not known 
rq;f fhyj;jpy; ngz;fs; jiy Kbapy; mzpAk; Mguzk; vJ? 
a. njha;afk;   b. Gy;yfk;  c. tae;jfk; 
d. tyk;Ghp   e. tpil njhpatpy;iy 
 

56. The type of drought which lead to a famine, widespread disease and death from 
starvation is 
a. Meteorological drought  b. Hydrological drought 
c. Agricultural drought  d. Socio economic drought 
e. Answer not known 
gQ;rk;> gutyhd Neha; kw;Wk; gl;bdpahy; ,wg;gpw;F toptFf;Fk; twl;rp tif vd;gJ 
a. thdpiy twl;rp   b. ePh;epiy twl;rp  c. tptrha twl;rp 
d. r%f nghUshjhu twl;rp e. tpil njhpatpy;iy 
 

57. Which Government has established the Tamil Nadu Slum Clearance Board as an 
autonomous body? 
a. DMK   b. AIADMK  c. Janata Party    
d. Congress   e. Answer not known 
jkpo;ehL Fbirg;gFjp khw;W thhpaj;ijj; jd;dhl;rp mikg;ghf epWtpa muR? 
a. jpKf   b. m,mjpKf c. [djh fl;rp  
d. fhq;fpu];   e. tpil njhpatpy;iy 
 

58. Match the following: 
A. Women’s Liberation Movement 1. Utopian Movement 
B. Indian National Freedom Movement 2. Reform Movement 
C. Anti-Hindi Movement   3. Revolutionary Movement 
D. Hare Krishna Movement  4. Resistance Movements 

A B C D 
a. 1 2 3 4  
b.  4 1 2 3 
c. 4 3 2 1 
d. 4 1 3 2   
e. Answer not known 
fPo;f;fz;ltw;iwg; nghUj;Jf. 
A. ngz;fs; tpLjiy ,af;fk;  1. cl;Nlhgpad; ,af;fk; 
B. ,e;jpa Njrpa tpLjiy ,af;fk; 2. rPh;jpUj;j ,af;fk; 
C. ,e;jp vjph;g;g ,af;fk;   3. Gul;rpfu ,af;fk; 
D. `Nu fpU~;z ,af;fk;   4. vjph;g;G ,af;fk; 

A B C D 
a. 1 2 3 4  
b.  4 1 2 3 
c. 4 3 2 1 
d. 4 1 3 2 
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e. tpil njhpatpy;iy 
 

59. Match the following Industry Clusters in Tamil Nadu. 
A. Thiruchengode  1. Sago 
B. Salem   2. Coach – Building 
C. Rajapalayam  3.Bore – well drilling 
D. Karur   3. Surgical cotton products 

A B C D 
a.  3 1 4 2 
b.  3 2 4 1 
c. 3 4 1 2  
d. 2 1 4 3 
e. Answer not known 
jkpo; ehl;bd; nghUj;jkhd njhopy; nfhj;ij ,iz 
A. jpUr;nrq;NfhL   - kuts;sp 
B. Nryk;  - thfd Gidgth; 
C. uh[ghisak; - Mo;JisapLk; gzpfs; 
D. f&h;  - gUj;jp mWit rpfpr;ir nghUl;fs; 

A B C D 
a.  3 1 4 2 
b.  3 2 4 1 
c. 3 4 1 2  
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

60. According to NITI Aayog Health Index of 2021 of Tamil Nadu stands _______ among 
the Indian States. 
a. First   b. Third  d. Second 

d. Eighth  e. Answer not known 
NITI MNahf; Rfhjhu FwpaPL 2021-,d; gb midj;J ,e;jpa khepyq;fspy; jkpofk; 
_________ ,lj;jpy; cs;sJ. 
a. Kjyhk;   b. %d;whk;  c. ,uz;lhk; 
d. vl;lhk;  e. tpil njhpatpy;iy 
 

61. The Government of India established the ‘National Policy of Child Labour’in 
a. August 1987  b. August 1985  c. August 1947 
d. August 1975  e. Answer not known 
Foe;ijj; njhopyhsh; Njrpaf; nfhs;if ,e;jpa murhq;fj;jhy; ___________ 
epWtg;gl;lJ. 
a. Mf];l; 1987  b. Mf];l; 1985  c. Mf];l; 1947 
d. Mf];l; 1975  e. tpil njhpatpy;iy 
 

62. The First State Finance Commission was constituted in 
a. 1990 b. 1992 c. 1993  d. 1994 e. Answer not known 
Kjy; khepy epjp Mizak; cUthf;fg;gl;l Mz;L 
a. 1990 b. 1992 c. 1993  d. 1994 e. tpil njhpatpy;iy 
 

63. Choose the right matches from the following pairs: 
(i) Reform Movement  - Women’s Liberation Movement 
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(ii) Revolutionary Movement - Brahmo Samaj 
(iii) Resistance Movement  - Anti-Hindi Movement 
(iv) Utopian Movement  - The Sarvodaya Movement 
a. (i) and (iii) are correct  b. (i) and (ii) are correct 
c. (ii) and (iii) are correct  d. (iii) and (iv) are correct 
e. Answer not known 
fPo;f;fhz;gtw;wpy; rhpahd nghUj;jj;ijj; Njh;e;njLf;fTk; 
(i) rPh;jpUj;j ,af;fk; - ngz;fs; tpLjiy ,af;fk; 
(ii) Gul;rpfu ,af;fk; - gpuk;k rkh[k; 
(iii) vjph;g;G ,af;fk ; - ,e;jp kWg;G ,af;fk; 
(iv) cNlhg;gpa ,af;fk; - rh;Nthjah ,af;fk; 
a. (i) kw;Wk; (iii) rhpahdit   b. (i) kw;Wk; (ii) rhpahdit   
c. (ii) kw;Wk; (iii) rhpahdit   d. (iii) kw;Wk; (iv) rhpahdit   
e. tpil njhpatpy;iy 
 

64. ________ is the Infant Mortality rate of (per thousand live births) Tamil Nadu in the 
year (2018). 
a. 15  b. 14  c. 34  d. 44  e. Answer not known 
2018-,y; jkpofj;jpd; Foe;ij ,wg;G tpfpjk; (1000 Foe;ijfs; gpwg;Gf;F) 
a. 15  b. 14  c. 34  d. 44  e. tpil njhpatpy;iy 
 

65. The aim of Operation Digital Board (ODB) is 
a. To provide two smart classrooms for every Secondary Schools in all states by 
March 2023 
b. To stop smart classrooms in all states 
c. To provide smart classrooms by March 2025 
d. To provide two smart classrooms in colleges 
e. Answer not known 
MgNu~d; b[pl;ly; Nghh;L (ODB)d; Nehf;fk; 
a. ehl;bd; midj;J khepyq;fspYk; cs;s Nky;epiy gs;spfspy; jyh ,uz;L ];khh;l; 
tFg;giwfis khh;r; 2023f;Fs; cUthf;Fjy;  
b. midj;J khepyq;fspYk; ];khh;l; tFg;giwfis jLj;jy; 
c. khh;r; 2025f;F ];khh;l; tFg;giwfs; cUthf;Fjy; 
d. midj;J fy;Y}hpfspYk; ];khh;l; tFg;giwfis cUthf;Fjy; 
e. tpil njhpatpy;iy 
 

66. Why the E-Challan system introduced by the Tamil Nadu home department? 
a. To increase the revenue 
b. To monitor and reduce the traffic violations 
c. To monitor and control the law and order 
d. To reduce the crime rate  
e. Answer not known 
jkpof cs;Jiwapdhy; ,.ryhd; Kiw vjw;fhf mwpKfg;gLj;jg;gl;lJ? 
a. tUtha; mjpfhpf;f  
b. Nghf;Ftuj;J tpjp kPwy;fis fz;fhzpj;jy; kw;Wk; fl;Lg;gLj;j      
c. rl;lk;> xOq;if fz;fhzpj;jy; kw;Wk; fl;Lg;gLj;j 
d. Fw;wq;fis fl;Lg;gLj;j   
e. tpil njhpatpy;iy 
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67. B.M. Birla Planetarium, Periyar Science and Technology is located in  
a. Tanjavur  b. Madurai  c. Dindigul 
d. Chennai  e. Answer not known 
nghpahh; mwptpay; njhopy;El;g ika gp.vk;. gph;yh Nfhsuq;fk; mike;Js;s ,lk; 
a. jQ;rhT+h;  b. kJiu  c. jpz;Lf;fy; 
d. nrd;id  e. tpil njhpatpy;iy 
 

68. The town “Sivakasi” was fondly called as “Little Japan” by 
a. Mahatma Gandhi  b. Jawaharlal Nehru  c. Indira Gandhi  
d. Moraji Desai  e. Answer not known 
rptfhrp efuk; xU ‘Fl;b [g;ghd;’ vd md;NghL mioj;jth; 
a. kfhj;kh fhe;jp  b. [t`h;yhy; NeU  c. ,e;jpuh fhe;jp 
d. nkhuh[p Njrha;  e. tpil njhpatpy;iy 
 

69. Which one of the following is wrongly matched? 
a. Magnesite  - Salem 
b. Molybdenum - Karadikuttam 
c. Iron Ore  - Kajamalai 
d. Lignite  - Kaniyakumari 
e. Answer not known 
fPo;f;fz;ltw;Ws; vJ jtwhf nghUj;jg;gl;Ls;sJ 
a. khf;dirl;  - Nryk;   
b. khypg;bdk;  - fubf;Fl;lk; 
c. ,Uk;Gj; jhJ - fh[hkiy 
d. ypf;idl;  - fd;dpahFkhp 
e. tpil njhpatpy;iy 
 

70. Where does the “Export promotion Industrial Park” is located in Tamil Nadu? 
a. Gummidipoondi  b. Chengalpet  c. Tambaram 
d. Ambattur   e. Answer not known 
Vw;Wkjp Cf;Ftpg;G njhopy;Jiw G+q;fh jkpo;ehl;by; vq;F mike;Js;sJ/ 
a. Fk;kpbG+z;b   b. nrq;fy;gl;L  c. jhk;guk; 
d. mk;gj;J}h;   e. tpil njhpatpy;iy 
 

71. ________ district in Tamil Nadu has the lowest child sex ratio in 2011 census. 
a. Theni   b. Cuddalore   c. Dharmapuri 
d. Ariyalur   e. Answer not known 
2011-k; kf;fl;njhif fzf;nfLg;gpd;gb kpff; Fiwe;j Foe;ij ghypd tpfpjk; nfhz;l 
jkpof khtl;lk; 
a. Njdp  b.flY}h;    c. jh;kGhp 
d. mhpaY}h;  e. tpil njhpatpy;iy 
 

72. Home Based Care for young Child (HBYC) was implemented in Tamil Nadu, in the 
following Districts under Phase I? 
a. Ramanathapuram & Chennai  b. Virudhunagar & Chennai 
c. Ramanathapuram & Salem  d. Virudhunagar & Ramanathapuram 
e. Answer not known 
,sk; Foe;ijfSf;fhd tPl;Lg; guhkhpg;G jpl;lk;> jkpofj;jpy; Kjy; fl;lkhf> ve;j 
khtl;lq;fspy; nray;gLj;jg;gl;lJ? 
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a. ,uhkehjGuk; kw;Wk; nrd;id  b. tpUJefh; kw;Wk; nrd;id   
c. ,uhkehjGuk; kw;Wk; Nryk;   d. tpUJefh; kw;Wk; ,uhkehjGuk;   
e. tpil njhpatpy;iy 
 

73. The unconscious sorting of an arrangement of facts and ideas learnt after a period of 
time is called 
a. Association  b. Consolidation  c. Reminiscence 
d. Perseveration  e. Answer not known 
xU Fwpg;gpl;l fhyj;jpw;Fg; gpd; fw;Wf; nfhz;l cz;ikfs; kw;Wk; fUj;Jf;fs; 
epidtpy; ,y;yh epiyapYk; thpirahf;fk; nra;tJ 
a. Nfhh;j;jy;   b. njhFj;jy;   c. epidT $h;jy; 
d. tplhKaw;rp  e. tpil njhpatpy;iy 
 

74. __________ Scheme to provide integrated support and assistance to women affected by 
violence, both in Private and Public space under a roof. 
a. ‘SAKTHI’   b. ‘SAKHI’   c. ‘SHANTAM’   
d. ‘SANTHOSM’  e. Answer not known 
jpl;lk;> td;Kiwahy; ghjpf;fg;gl;l ngz;fSf;fhd xUq;fpize;j cjtpfisg; ngw;Wj; 
jUtJ ghjpf;fg;gl;l ngz;fs; ftdpj;jy;> kdepiy Nkk;ghL rl;lk;> nghJ kw;Wk; 
jdpahh; mikg;GfSld; ,ize;J nray;gLjy; 
a. rf;jp   b. rfp    c. rhe;jk; 
d. re;Njh~k;   e. tpil njhpatpy;iy 
 

75. E.V. R. Maniammaiyar Ninaivu Marriage Assistance Scheme is implemented to help, 
a. Orphan girls   b. Intercaste married couples 
c. Widows to remarry  d. Daughters of poor widows 

e. Answer not known 
<.nt.uh. kzpak;ikahh; epidT jpUkz cjtp jpl;lk;> ahUf;F cjTtjw;F 
toq;fg;gLfpwJ? 
a. jha;> je;ijaw;w ngz;fs; b. fyg;G jpUkz jk;gjp   
c. tpjit kWgzk; Ghptjw;F d. Vio tpjitg; ngz;fspd; kfs;fSf;F   
e. tpil njhpatpy;iy 
 

76. Which of the following schemes was funded by World Bank? 
a. Pudhu Vazhvu Scheme  b. Amma Scheme 
c. Cradle baby Scheme  d. Meetpu Scheme 
e. Answer not known 
fPo;f;fhZk; jpl;lq;fSs;> ve;jj; jpl;lj;jpw;F> cyf tq;fpapd; epjpAjtp toq;fg;gl;lJ? 
a. GJ tho;T jpl;lk;  b. mk;kh jpl;lk;   c. njhl;by; Foe;ij jpl;lk; 
d. kPl;G jpl;lk;  e. tpil njhpatpy;iy 
 

77. What is the “App” used for the agriculturist to disseminating technological 
information? 
a. Kavalan    b. Uzhavan    c. Farmer 
d. Vellalar   e. Answer not known 
njhopy;El;g jfty;fis gug;Gtjw;F tptrhapf;F gad;gLk; gad;ghl;L nrayp ahJ? 
a. fhtyd;   b. cotd;   c. tptrhap 
d. Ntshsh;   e. tpil njhpatpy;iy 
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78. Assertion (A):  The prime objective of the Government is the overall development 
of the tribal community. 
Reason (R):  Proper and effective implementation of schemes is of paramount 
importance. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 
$w;W (A):  goq;Fbapdhpd; xl;Lnkhj;j tsh;r;rpNa murhq;fj;jpd; Kjd;ikahd 
Nehf;fk; MFk;. 
fhuzk; (R): jpl;lq;fis KiwahfTk;> jpwikahfTk; nray;gLj;JtJ kpf 
Kf;fpakhdJ 
a. $w;W (A) kw;Wk; fhuzk; (R) Mfpa ,uz;LK; rhp; ,j;Jld; fhuzk; (R) vd;gJ 
$w;W (A)f;fhd rhpahd tpsf;fk;   
b. $w;W (A) kw;Wk; fhuzk; (R) Mfpa ,uz;Lk; rhp; ,j;Jld; fhuzk; (R) vd;gJ 
$w;W (A)f;fhd rhpahd tpsf;fk; my;y 
c. $w;W (A) rhp Mdhy; fhuzk; (R) jtW 
d. $w;W (A) jtW Mdhy; fhuzk; (R) rhp   
e. tpil njhpatpy;iy 
 

79. The percentage of reservation given to Backward Class Muslims is ______ in Tamil 
Nadu. 
a. 7  b. 5.5  c. 6  d. 3.5  e. Answer not known 
jkpo;ehL gpw;gLj;jg;gl;l ,];yhkpah;fSf;fhd ,l xJf;fPL rjtPjk; __________ MFk; 
a. 7  b. 5.5  c. 6  d. 3.5  e. tpil njhpatpy;iy 
 

80. Which was the first state to establish Third Gender Welfare Board? 
a. Tamil Nadu   b. Karnataka   c. Kerala 
d. Maharashtra  e. Answer not known 
%d;whk; ghypd ey thhpaj;ij epWtpa Kjy; khepyk; vJ? 
a. jkpo;ehL    b. fh;ehlfk;    c. Nfusk; 
d. kfhuh~;buh  e. tpil njhpatpy;iy 
 

81. The statutory body which is constituted to deal with the cases related to crime against 
women is 
a. State Resource Centre for Women  b. State Commission for Women 
c. One Stop Crisis Centre    d. One Stop Crisis Centre 
e. Answer not known 
ngz;fSf;nfjpuhd Fw;wk; njhlh;ghd tof;Ffis tprhhpf;f epWtg;gl;l rl;lk; hPjpahd 
mikg;G __________ MFk;. 
a. khepy ngz;fs; ts ikak;   b. khepy kfsph; Mizak;   
c. xU epWj;j neUf;fb ikak;  d. kfpsh rf;jp Nfe;jpuh   
e. tpil njhpatpy;iy 
 

82. Resistance Movements are mainly focus on 
a. being traditional    b. being modern  c. being others 
d. resist to change   e. Answer not known 
vjph;g;G ,af;fk; vjid ftdj;jpy; nfhs;fpd;wJ 



 

23 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     
http://www.appolosupport.com/ 

 

a. ghuk;ghpaj;ij filgpbj;jy;  b. etPdj;ij filgpbj;y;   
c. kw;wtiur; rhuhjpUj;jy;   d. vjph;tpid khw;wk;   
e. tpil njhpatpy;iy 
 

83. Indices of Human Devlopment Index are: 
(i) Income 
(ii) Education 
(iii) Industrial 
(iv) Health 
(v) Infrastructure 
a. (iii), (iv), (v)   b. (ii), (iii), (iv)  c. (i), (ii), (iii) 
d. (i), (ii), (iv)   e. Answer not known 
kdpj tsh;r;rp FwpaPl;bd; FwpaPLfs; _________ MFk; 
(i) tUkhdk; 
(ii) fy;tp 
(iii) njhopy;Jiw 
(iv) MNuhf;fpak; 
(v) cs;fl;likg;G 
a. (iii), (iv), (v)  b. (ii), (iii), (iv)  c. (i), (ii), (iii) 
d. (i), (ii), (iv)  e. tpil njhpatpy;iy 
 

84. The food security has the following three components: 
(i) Accessibility   
(ii) Allocation 
(iii) Availability 
(iv) Absorption 
a. (i), (ii) & (iii)  b. (i), (iii) & (iv)   c. (ii), (iii) & (iv)   
d. (i), (ii) & (iv)  e. Answer not known 
czT ghJfhg;G vd;gJ fPo;f;fhZk; %d;W $Wfis cs;slf;fpaJ. 
(i) mZFjy; 
(ii) xJf;fPL 
(iii) fpilj;jy; 
(iv) cwpQ;Rjy; 
a. (i), (ii) & (iii)  b. (i), (iii) & (iv)   c. (ii), (iii) & (iv)   
d. (i), (ii) & (iv)  e. tpil njhpatpy;iy 
 

85. Three-tier health infrastructure of Tamil Nadu comprise  
a. Hospitals, Primary Health Centres, Community Health Centres 
b. Industries, Hospitals, Schools 
c. Colleges, Hospitals, Banks 
d. Hospitals, Medical Colleges, Banks 
e. Answer not known 
jkpo;ehL %d;wLf;F cly;ey mbg;gilf; fl;likg;gpy; mlq;fpAs;sit 
a. kUj;Jtkidfs;> Muk;g Rfhjhu epiyaq;fs;> r%fey ikaq;fs;   
b. njhopy;> kUj;Jtkidfs;> gs;spfs;   
c. fy;Y}hpfs;> kUj;Jtkidfs;> tq;fpfs; 
d. kUj;Jtkidfs;> kUj;Jt fy;Y}hpfs;> tq;fpfs;   
e. tpil njhpatpy;iy 
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86. Find the missing number: 

4, 27, 16, 125, 36, __________, 64 
a. 343   b. 256  c. 144  d. 121  e. Answer not known 
tpLgl;l vz;izf; fhz;f. 
4, 27, 16, 125, 36, __________, 64 
a. 343   b. 256  c. 144  d. 121  e. tpil njhpatpy;iy 
 

87. Find the value of ‘x’ 
3, 7, 14, 23, 36, 49, x 
a. 64  b. 65  c. 66  d. 67  e. Answer not known 
‘x’ d; kjpg;ig fPo;fz;l njhlhpy; fhz;f. 
3, 7, 14, 23, 36, 49, x 
a. 64  b. 65  c. 66  d. 67  e. tpil njhpatpy;iy 
 

88. In a Certain Code RANGE is coded as 12345 and Random is coded as 123678, then the 
code for the word MANGO would be 
a. 82346   b. 82347   c. 82357 
d. 84563   e. Answer not known 
xU Fwpg;gpl;l kiw FwpaPl;bd;gb TAMGE MdJ 12345 MfTk; RANDOM MdJ 
123678 MfTk; Fwpf;fg;gl;lhy; MANGO vDk; thh;j;ijf;fhd kiw FwpaPL. 
a. 82346   b. 82347   c. 82357 
d. 84563   e. tpil njhpatpy;iy 
 

89. In a certain code ALGEBRA as BKHDCQB then GEOMETRY is coded as 
a. HDPLFUSX  b. HDPLFSSX  c. HFPLFUSX 
d. HFPLFUSZ  e. Answer not known 
,ufrpa FwpaPl;L Kiwapy; ALGEBRA vd;gij BKHDCQB vdf; Fwpj;jhy; 
GEOMETRY vd;gij vt;thW Fwpf;fyhk; 
a. HDPLFUSX  b. HDPLFSSX  c. HFPLFUSX 
d. HFPLFUSZ  e. tpil njhpatpy;iy 
 

90. How many 2-digit natural numbers contain the number 7? 
a. 10  b. 18  c. 19  d. 20  e. Answer not known 
7I Xh; ,yf;fkhff; nfhz;l <hpyf;f ,ay; vz;fs; vj;jid cs;sd? 
a. 10  b. 18  c. 19  d. 20   e. tpil njhpatpy;iy 
 

91. If 7 7 7 7 75 5 5 5 5 5y+ + + + = then y 
a. 5  b. 7  c. 8  d. 9  e. Answer not known 

If 7 7 7 7 75 5 5 5 5 5y+ + + + =  vdpy; yd; kjpg;G  
a. 5  b. 7  c. 8  d. 9   e. tpil njhpatpy;iy 
 

92. ‘A’ can do a work in 45 days. He works at it for 15 days and then, ‘B’ alone finishes the 
remaining work in 24 days. Find the time taken to complete 80% of the work, if they 
work together. 
a. 20 days   b. 24 days   c. 16 days 
d. 36 days   e. Answer not known 
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A Mdth; xU Ntiyia 45 ehl;fspy; Kbg;gh;. mth; 15 ehl;fSf;F kl;LNk Ntiy 
nra;jhh;. gpwF B Mdth; kPjkpUe;j Ntiyapid 24 ehl;fspy; Kbf;fpwhh;. ,UtUk; 
,ize;J Ntiy nra;jhy;> me;j Ntiyapd; 80% I Kbf;f MFk; Neuj;ijf; fhz;f. 
a. 20 ehl;fs;   b. 24 ehl;fs;   c. 16 ehl;fs; 
d. 36 ehl;fs;   e. tpil njhpatpy;iy 
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93. 10 men can complete a piece of work in 15 days and 15 women can complete the same 
work in 12 days. If all the 10 men and 15 women work together, in how many days will 
the work get completed? 

a. 6  b. 6
1

3
  c. 6

2

3
  d. 7

2

3
  e. Answer not known 

10 Mz;fs; xU Ntiyia 15 ehl;fspy; Kbg;gh;. 15 ngz;fs; mNj Ntiyia 12 
ehl;fpsy; Kbg;gh;. 10 Mz;fSk; 15 ngz;fSk; Nrh;e;J ,t;Ntiyia Kbf;f vj;jid 
ehl;fs; MFk;? 

a. 6  b. 6
1

3
  c. 6

2

3
  d. 7

2

3
  e. tpil njhpatpy;iy 

 
94. An aircraft can accommodate 280 people in 2 trips. It can take ________ trips to take 

1400 people. 
a. 8  b. 9  c. 10  d. 12  e. Answer not known 
280 egh;fs; xU tpkhdj;jpy; 2 Kiw gazk; nra;fpd;wdh; vdpy;> mt;tpkhdj;jpy; 1400 
egh;fs; _________ Kiw gazk; nra;ayhk; 
a. 8  b. 9  c. 10  d. 12  e. tpil njhpatpy;iy 
 

95. A garden roller whose length is 3 m long and whose diameter is 2.8 m is rolled to level 
a garden. How much area will it cover in 8 revolutions? 

a. 211.02 2m    b. 211.2 2m   c. 211 2m  

d. 212 2m    e. Answer not known 
ePsk;  3 kP kw;Wk; tpl;lk; 2.8 kP cila x Urd;gLj;Jk; cUisiaf; nfhz;L xU 
Njhl;lk; rk;dgLj;jg;gLfpwJ. 8 Rw;Wfspy; vt;tsT gug;ig cUis rkd;nra;Ak;? 
a. 211.02 kP2   b. 211.2kP2   c. 211kP2  
d. 212 kP2   e. tpil njhpatpy;iy 
 

96. Find the number of lead balls each 1 cm in diameter that can be made form a sphere of 
diameter 12 cm 
a. 1726   b. 1728   c. 1626 
d. 1736   e. Answer not known 
12 nr.kP tpl;l msT nfhz;l Nfhsj;jpypUe;J 1 nr.kP tpl;l msT nfhz;l Nfhsk; 
vj;jid thh;f;fyhk;? 
a. 1726   b. 1728   c. 1626 
d. 1736   e. tpil njhpatpy;iy 
 

97. The bacteria in a culture grows by 5% in the first hour, decreases by 8% in the second 
hour and again increases by 10% in the third hour. Find count of bacteria at the end of 3 
hours if its initial count was 10,000 
a. 13,000   b. 13,500   c. 12, 626 
d. 10, 626   e. Answer not known 
xU tif ghf;Bhpah KjyhtJ xU kzp Neuj;jpy; 5% tsh;r;rpAk;> ,uz;lhtJ kzp 
Neuj;jpy; 8% tsh;r;rpf; Fd;wpAk;> %d;whk; kzp Neuj;jpy; 10% tsh;;r;rpAk; milfpwJ. 
Kjypy; mjd; vz;zpf;if 10>000 Mf ,Ue;jJ vdpy; %d;W kzp 
a. 13,000   b. 13,500   c. 12, 626 
d. 10, 626   e. tpil njhpatpy;iy 
 

98. Find the difference in C.I. and S.I. for P = Rs. 8000, r = 5% p.a. n = 3 years is 
a. Rs. 60 b. Rs. 20 c. Rs. 21 d. Rs. 61 e. Answer not known 
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5% Mz;L tl;bapy; 3 Mz;LfSf;F Rs. 8000 mrYf;F fpilj;j $l;L tl;bf;Fk; jdp 
tl;bf;Fk; ,ilNaAs;s tpj;jpahrk; 
a. Rs. 60 b. Rs. 20 c. Rs. 21 d. Rs. 61 e. tpil njhpatpy;iy 
 

99. Which is the highly populated race in the states of Nagaland and Megalaya? 
a. Meladia  b. Aryans  c. Mongoloid 
d. Turko  e. Answer not known 
ehfyhe;J kw;Wk; Nkfhyah khepyq;fspy; mjpfstpy; ,lk; ngw;Ws;s mdpj ,dj;jpd; 
gphpT vJ? 
a. nkyhbah  b. Mhpah;fs;   c. kq;Nfhypah; 
d. Jh;fpNah  e. tpil njhpatpy;iy 
 

100. What sum of money will earn Rs. 500 as simple interest in 1 year at 5% per annum? 
a. 50000  b. 30000  c. 10000 
d. 5000  e. Answer not known 
Mz;bw;F 5% tl;b tPjj;jpy; Xh; Mz;bw;F Rs. 500Ij; jdptl;bahfj; jUk; mry; 
vt;tsT? 
a. 50000  b. 30000  c. 10000 
d. 5000  e. tpil njhpatpy;iy 
 

101. If Meena gives an interest of Rs. 45 for one year at 9% rate.  What is the sum she has 
borrowed? 
a. 1000 b. 1500 c. 500  d. 1200 e. Answer not known 
kPdh vd;gth; 9% tl;b tPjj;jpy; xU tUlj;jpw;F &.45 tl;bahf nrYj;Jfpwhh; vdpy; 
mth; thq;fpa njhif vd;d? 

 a. 1000 b. 1500 c. 500  d. 1200 e. tpil njhpatpy;iy 
 
102. In three vessels of 10 L capacity mixture of milk and water is filled the ratio of milk and 

water are 2:1, 3:1 and 3:2 in the respective vessels.  If all the three vessels are emptied 
into a single large vessel, find the ratio of milk and water in the resultant mixture. 
a. 121:41    b. 117:22   c. 127:41   
d. 121:59    e. Answer not known 
10 ypl;lh; nfhs;ssT nfhz;l %d;W ghj;jpuq;fspy; KiwNa 2:1:3:1 kw;Wk; 3:2 vd;w 
tpfpjj;jpy; ghYk; jz;zPUk; fye;j fyitahy; epug;gg;gl;Ls;sJ. %d;W ghj;jpuq;fspy; 
cs;s fyitfs; midj;ijAk; xU nghpa ghj;jpuj;jpy; Cw;wg;gLfpwJ vdpy; nghpa 
ghj;jpuj;jpy; cs;s fyitapy; ghy; kw;Wk; jz;zPhpd; tpfpjk; vd;d? 
a. 121:41    b. 117:22   c. 127:41   
d. 121:59    e. tpil njhpatpy;iy 
 

103. If (x+1) :8= 3.75: 7, then the value of x is  

a. 
2

1
7

  b. 
2

2
7

  c. 
2

3
7

  d. 
2

4
7

  e. Answer not known 

x +1: 8 = 3.75:7 vdpy; x d; kjpg;G 

a. 
2

1
7

  b. 
2

2
7

  c. 
2

3
7

  d. 
2

4
7

  e. tpil njhpatpy;iy 

 
104. A heater uses 3 units of electricity in 40 min. How many units does it consume in 2 

hours? 
a. 10 units   b. 9 units   c. 8 units 
d. 11 units   e. Answer not known 
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xU #Nlw;wp 40 epkplq;fspy; 3 myFfs; kpd;rhuj;ijg; gad;gLj;JfpwJ. ,uz;L kzp 
Neuj;jpy; vj;jid myFfs; kpd;rhuj;ij mJ gad;gLj;Jk;? 
a. 10 A+dpl;Lfs;  b. 9 A+dpl;Lfs;  c. 8 A+dpl;Lfs;  
d. 11 A+dpl;Lfs;  e. tpil njhpatpy;iy 
 

105. Find the LCM of : 9 a3b2, 12a2b2c 
a. 36 abc    b. 12 a2bc   c. 24 a2b2c 
d. 36 a3b2c    e. Answer not known 
kP.rP.k fhz;f 9 a3b2, 12a2b2c 
a. 36 abc    b. 12 a2bc   c. 24 a2b2c 
d. 36 a3b2c    e. tpil njhpatpy;iy 
 

106. Find the LCM of :4x2y, 8x3y2 
a. 4x2y  b. 8x3y2 c. 8 x2y d. 32 xy e. Answer not known 
kP.ngh.k fhz;f 4x2y, 8x3y2 
a. 4x2y  b. 8x3y2 c. 8 x2y d. 32 xy e. tpil njhpatpy;iy 
 

107. Find the H.C.F of (m2-3m-18) and m2+5m +6 
a. m+3  b. m-6   c. m+2  
d. m-3   e. Answer not known 
gpd;tUtdtw;wpd; kP.ngh.t. fhz;f. (m2-3m-18) kw;Wk; m2+5m +6 
a. m+3   b. m-6   c. m+2  
d. m-3   e. tpil njhpatpy;iy 
 

108. If (x-6) is the HCF of (x2-2x -24) and (x2-Kx -6) then the value of K is 
a. 3   b. 5  c. 6  d. 8  e. Answer not known 
(x2-2x -24) kw;Wk; (x2-Kx -6) apd; kP.ngh.t. (x-6) vdpy; K d; kjpg;G  
a. 3   b. 5  c. 6  d. 8  e. tpil njhpatpy;iy 
 

109. If x% of x = 25, then x =  
a. 50   b. 25  c. 55  d. 20  e. Answer not known x 
d; x% vd;gJ 25 vdpy;> x vd;gJ _________ MFk;.  
a. 50   b. 25  c. 55  d. 20  e. tpil njhpatpy;iy 
  

110. 30% of a 3 – digit number is 190.8 what will be 125 % of that number? 
a. 636  b. 795  c. 975  d. 735   e. Answer not known 
%d;W ,yf;f vz; xd;wpd; 30% d; kjpg;G 190.8. mNj vz;zpd; 125% d; kjpg;G vd;d? 
a. 636  b. 795  c. 975  d. 735   e. tpil njhpatpy;iy 
 

111. Arrange the following events in chronological order 
(i) British India society was founded by Dadabhai Naoroji 
(ii) Dadabhai Naoroji was elected to the British House of commons 
(iii) President of the 22nd Calcutta congress session 
(iv) President of the 9th Lahore congress session 
a. (iii), (ii), (i), (iv)  b. (i), (iii), (iv), (ii)  c. (ii), (iii),(i), (iv)  
d. (i), (ii), (iv), (iii)  e. Answer not known 
gpd;tUtdtw;iw fhytud;Kiwg;gLj;Jf. 
(i) jhjhgha; nesNuh[p gphpl;b~; ,e;jpa rq;fj;ij epWtpdhh; 
(ii)jhjhgha; nesNuh[p gphpl;b~; `T]; M/g; fhkd;]Pf;F Njh;e;njLf;fg; gl;lhh; 
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(iii) nfhy;fj;jhtpy; ele;j 22 tJ fhq;fpu]; khehl;bd; jiyth; 
(iv) yh$hpy; ele;j 9 tJ fhq;fpu]; khehl;bd; jiyth; 
a. (iii), (ii), (i), (iv)  b. (i), (iii), (iv), (ii)  c. (ii), (iii),(i), (iv)  
d. (i), (ii), (iv), (iii)  e. tpil njhpatpy;iy 
 

112. Which of the following statements is/are correct about the objectives of the All India 
Muslim League? 
(i) Immediate reforms should be introduced in Frontier provinces and Baluchistan 
(ii) To promote the interests and safeguard the political rights of the Muslims 
(iii) To promote against friendly feelings between the muslims and other communities 
in India to the extent possible 
(iv) To promote among Indian Muslim feelings of loyalty towards the British 
Government 
a. (i) and (ii) are correct   b. (ii) and (iv) are correct 
c. (i), (ii)(iii) are correct   d. (i) and (iv) are correct 
e. Answer not known 
midj;J ,e;jpa K];ypk; yPf; gw;wpa gpd;tUk; $w;Wfspy; vJ/vit rhpahdit? 
(i) vy;iyg;Gw khfhzq;fs; kw;Wk; gYrp];jhdpy; cldb rPh;jpUj;jq;fis 
mwpKfg;gLj;jg;gl Ntz;Lk; 
(ii) K];yPk;fspd; murpay; chpikfis ghJfhj;J Nkk;gLj;JtJ 
(iii) ,e;jpahtpy; cs;s K];yPk;fs; kw;Wk; gpw r%fq;fSf;F ,ilNaahd el;G 
czh;TfSf;F vjpuhf elj;jy; 
(iv) Mq;fpy murhq;fj;jpd; kPjhd tpRthd czh;Tfis ,e;jpa K];yPk;fspilNa 
Cf;Ftpj;jy; 
a. (i) kw;Wk; (ii) rhp  b. (ii) kw;Wk; (iv) rhp  c. (i), (ii) kw;Wk; (iii) rhp 
d. (i) kw;Wk; (iv) rhp   e. tpil njhpatpy;iy 
 

113. The name ‘Pakistan’ or ‘Pak-stan’ was coined by a Punjab student at Cambridge who 
was he? 
a. Mohammed Ali Jinnah    b. Asaf Soukath Ali 
c. Choudhry Muhamad Ali   d. Choudhry Rahmat Ali 
e. Answer not known 
‘ghfp];jhd;’ (m) ‘ghf; - ];jhd;’ vd;w ngaiu gQ;rhig rhh;e;j Nfk;gphpl;]; 
gy;fiyfof khzth; #l;bdhh;. mtUila ngah; 
a. Kfk;kJ myp [pd;dh    b. M]g; rTfj; myp  
c. nrsj;jphp Kfk;kJ myp    d. nrsj;jphp un`kj; myp  
e. tpil njhpatpy;iy 
 

114. Who led the civil Disobedience movement after Mahatma Gandhi’s arrest is 1930? 
a. Jawaharlal Nehru   b. Abbas Tyabji   c. Sarojini Naidu 
d. Subash Chandra Bose  e. Answer not known 
1930 y; ele;j rl;l kWg;G ,af;fj;jpd; NghJ kfhj;kh fhe;jp ifJ nra;ag;gl;l gpd; 
mjid jiyik jhq;fp elj;jpr; nrd;wth; ahh;? 
a. [t`h;yhy; NeU   b. mg;gh]; jahg;[p  c. rNuh[pdp ehAL  
d. Rgh~; re;jpuNgh];  e. tpil njhpatpy;iy 
 

115. Which among the following was not suggested by the Nehru report? 
a. Proposed Dominion status for India 
b. A committee of defence was proposed at the centre 
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c. Fundamental Rights were to be incorporated in the Constitution 
d. Abolition of dyarchy in the provinces 
e. Answer not known 
gpd;tUtdtw;wpy; NeU mwpf;ifapy; ghpe;Jiuf;fg;glhjit vit? 
a. ,e;jpahTf;fhd Nkyhl;rp mq;fPfhuj;ij Kd; nkhope;jJ 
b. ikaj;jpy; xU ghJfhg;G FO Kd; nkhopag;gl;lJ   
c. murpayikg;gpy; mbg;gil chpikfs; ,izf;fg;gl Ntz;Lk; 
d. khfzq;fspy; ,ul;il Ml;rp Kiw xopf;fg;gl Ntz;Lk;   
e. tpil njhpatpy;iy 
 

116. The organization formed by Indian students residing in Germany during first world 
war (1914-1918) was 
a. Indian National Committee 
b. Indian Independence Committee of Nationalists 
c. Indian Independence committee 
d. Indian National Forum of Germany 
e. Answer not known 
KjyhtJ cyfg;Nghhpd; NghJ (1914-1918) n[h;kdpapy; jq;fpapUe;j ,e;jpa khzth;fs; 
ve;j mikg;ig Vw;gLj;jpdh;. 
a. ,e;jpa Njrpaf;FO   b. ,e;jpa Rje;jpu Njrpaf;FO   
c. ,e;jpa Rje;jpu FO   d. n[h;kdp ,e;jpa Njrpa kd;wk;   
e. tpil njhpatpy;iy 
 

117. British Journalists ridiculed ________ as the, “Kindergarten stage of Revolution”. 
a. Dandi March     b. Non-Cooperation Movement 
c. Quit India Movement    d. Bardoli Sathyagraha 
e. Answer not known 
________ Nghuhl;lj;ij “koiyah; gs;spapd; Nkilg; Nghuhl;lk;” vd gphpl;b~; 
gj;jphpf;iffs; Nfyp nra;jhh;. 
a. jz;b ahj;jpiu     b. xj;Jioahik ,af;fk;  
c. nts;isaNd ntspNaW ,af;fk;  d. gh;Njhyp rj;jpahfpufk; 
e. tpil njhpatpy;iy 

 
118. Who put forward the fourteen points programme in the Muslim League meeting held 

at Delhi? 
a. Abdul Kalam Azad   b. Muhammad Ali Jinnah 
c. Muhammad Iqbal    d. Asadullah Khan 
e. Answer not known 
nly;ypapy; eilngw;w K];yPk; yPf; $l;lj;jpy;> gjpdhd;F mk;r jpl;lj;ij 
Kd;dpiyg;gLj;jpath; ahh;? 
a. mGy; fyhk; Mrhj;   b. Kfk;kJ myp [pd;dh 
c. Kfk;kJ ,f;ghy;    d. Mrhj;Jy;yh fhd; 
e. tpil njhpatpy;iy 
 

119. How did Slogan Inquilab Zindabad was very popular? 
a. Voice of the Indians   b. Slogan of the teachers 
c. Slogan of the workers   d. Voice of Bhagat Singh 

e. Answer not known 
‘,d;Fyhg; rpe;jhghj;’ vd;w Kof;fk; vt;thW Gfo;ngw;wJ? 
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a. ,e;jpah;fspd; Fuyhy;   b. Mrphpahpd; Kof;fkha; ,Ue;jjhy; 
c. gzpahsh;fspd; Kof;fkhdjhy;  d. gfj;rpq;fpd; Fuyhy; 
e. tpil njhpatpy;iy 
 

120. Who exploded bombs on the Central Legislative Assembly in 1929? 
a. Rajguru and Jai Gopal     b. Bhagat Singh and batukesvar Datta 

c. Udham Singh and Bhagat Singh      d. Sukhdeva and Yatindranath 
e. Answer not known 
1929 y; kj;jpa rl;lkd;wj;jpy; ntbFz;L ntbf;fr; nra;jth;fs; ahh;? 
a. ,uh[FU kw;Wk; n[a; Nfhghy;   b. gfj;rpq; kw;Wk; gl;LNfth; jj;jh 
c. cj;jk;rpq; kw;Wk; gfj; rpq;   d. Rf;Njth kw;Wk; ahjpd;juehj; 
e. tpil njhpatpy;iy 
 

121. Arrange the following events in chronological order:   
(i) Vaikkom Satyagraha (ii) Cheranmahadevi Gurukulam Controversy 
(iii) Anti Hindi Agitation (iv) Individual Satyagraha 
a. (ii), (iii), (i), (iv)   b. (i), (ii),(iv), (iii)  c. (iv),(iii),(ii),(i)  
d. (iii), (i), (iv), (ii)   e. Answer not known 
fhy thpir / epfo;T xOq;FgLj;Jjy; gpd;tUk; epfo;Tfis fhythpirg;gb 
xOq;fikf;fTk; 
i. itf;fk; rj;jpafpufk;   ii. Nrud; kfhNjtp FUFyr; rh;r;ir  
iii. ,e;jp vjph;g;Gg; Nghuhl;lk;   iv. jdpegh; rj;jpahfpufk;  
a. (ii), (iii), (i), (iv)  b. (i), (ii),(iv), (iii)  c. (iv),(iii),(ii),(i)   
d. (iii), (i), (iv), (ii)  e. tpil njhpatpy;iy 
 

122. In the year A.D. 1817 Raja Ram Mohan Roy, Radhakanta dev and others founded 
Mahapatsala at 
a. Bombay    b. Delhi   c. Kolkatta  
d. Bengal     e. Answer not known 
fp.gp. 1817-k; Mz;L ,uh[huhk; Nkhfd;uha;> ,uhjh fhe;j Njt; kw;Wk; gyh; ,ize;J 
kfhghlrhiyia _______ ,lj;jpy; epWtpdh;. 
a. gk;gha;    b. jpy;yp   c. fy;fj;jh  
d. tq;fhsk;    e. tpil njhpatpy;iy 
 

123. Match the following congress session with the respective year 
A. Calcutta Session    1. 1885 
B. Allahabad Session  2. 1886 
C. Madras Session   3. 1887 
D. Bombay session   4. 1888 
 A B C D 
a. 2 4 3 1 
b. 1 2 3 4 
c. 2 3 1 4 
d. 1 4 3 2 
e.  Answer not known 
fPo;f;fhZk; fhq;fpuR khehLfis eilngw;w Mz;Lld; nghUj;Jf. 
A. fy;fj;jh khehL  1. 1885 
B. myfhghj; khehL  2. 1886    
C. nrd;id khehL  3. 1887  
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D. Kk;ig khehL  4. 1888 
A B C D 

a. 2 4 3 1 
b. 1 2 3 4 
c. 2 3 1 4 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
 

124. Choose the wrong matches: 
Which of the following are incorrectly paired? 

 (i)  British Indian Association  - 1851 
 (ii) Land Holders Society  - 1838 
 (iii) Madras Native Association - 1883 
 (iv)Indian Association   - 1816 
 a. (iii) and (iv)   b. (ii) and (i)   c. (i) and (iii)  

d. (ii) and (iii)   e. Answer not known 
jtwhd nghUj;jq;fis Njh;T nra;f: 
gpd;tUtdtw;Ws; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
i. gphpl;b~; ,e;jpa rq;fk;  - 1851 
ii. epyk; itj;jpUg;Nghh; r%fk; - 1838   
iii. nkl;uh]; G+h;tPf rq;fk;  - 1883 
iv. ,e;jpa fofk;    - 1816 
a. (iii) kw;Wk; (iv)   b. (ii) kw;Wk;(i)  c. (i) kw;Wk; (iii) 
d. (ii) kw;Wk; (iii)    e. tpil njhpatpy;iy 
  

125. Who was the president of 1887 Indian National congress conference that was held in 
Madras? 
a. Dadabhai Naoroji   b. Pheroshah Mehta  c. Badruddin Tyabji 
d. W.C. Bannergi   e. Answer not known 
fp.gp. 1887 -Mk; Mz;L nkl;uh]py; eilngw;w ,e;jpa Njrpa fhq;fpu]; khehl;bd; 
jiyth; ahh;? 
a. jhjhgha; nesNuh[p  b. ngNuh~h Nkj;jh  c. gj;Uj;jpd; jpahg;[p 
d. c.r.ghdh;[p   e. tpil njhpatpy;iy 
 

126. How is IMR (Infant Mortality Ratio) is calculated? 
a. Birth of 100 child and number of deaths in below 1 year in a particular period of time 
b. Birth of 1000 child and number of deaths in below 1year in a particular period of 
time 
c. Birth of 2000 child and number of deaths in below 1 year in a particular period of 
time 
d. Birth of 3000 child and number of deaths in below 1 year in a particular period of 
time 
e. Answer not known 
IMR Foe;ij ,wg;G tPjk; vt;thW fzf;fplg;gLfpwJ? 
a. Fwpg;gpl;l xU Mz;by; 100 Foe;ijfs; gpwe;jjpy; 1 tajpw;Fs; ,we;j Foe;ijfspd; 
vz;zpf;if 
b. Fwpg;gpl;l xU Mz;by; 1000 Foe;ijfs; gpwe;jjpy; 1 tajpw;Fs; ,we;j Foe;ijfspd; 
vz;zpf;if 
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c. Fwpg;gpl;l xU Mz;by; 2000 Foe;ijfs; gpwe;jjpy; 1 tajpw;Fs; ,we;j Foe;ijfspd; 
vz;zpf;if 
d. Fwpg;gpl;l xU Mz;by; 3000 Foe;ijfs; gpwe;jjpy; 1 tajpw;Fs; ,we;j Foe;ijfspd; 
vz;zpf;if 
e. tpil njhpatpy;iy 
 

127. Which one of below is related to poverty alleviation programmes? 
(i) The Nehru Rozgar Yojana 
(ii) National social Assistance programme 
(iii) Jawahar Gram Samridhi Yojana 
(iv) Swarna Jayanthi Shahari Rozgar Yojana 
a. (i) is correct    b. (iii) is correct    c. (i) and (ii) is correct 
d. (i),(ii),(iii)and (iv) are correct  e. Answer not known 
gpd;tUtdtw;Ws; vJ tWik Jah; jzpg;Gj; jpl;lq;fspd; njhlh;GilaJ? 
i. NeU Nuh];fh; Nah[dh   
ii. Njrpa r%f cjtp jpl;lk;   
iii. [t`h; fpuhk; rk;hpjp Nah[dh  
iv. ];th;z n[ae;jp r`hhp Nuh];fh; Nah[dh    
a. (i) kl;Lk; rhp    b. (iii) kl;Lk; rhp  c. (i) kw;Wk; (ii) rhp 
d. (i),(ii),(iii) kw;Wk; (iv) rhp  e. tpil njhpatpy;iy 
 

128. Which stage of demographic transition is characterized by “Low birth rate and low 
Death rate”? 
a. Stage I    b. Stage II   c. Stage III 
d. Stage IV    e. Answer not known 
kf;fs; njhif khw;wj;jpd; ve;j epiy “Fiwe;j gpwg;G tPjk; kw;Wk; Fiwe;j ,wg;G 
tPjk;” vd tifg;gLj;jg;gLfpwJ? 
a. epiy I    b. epiy II   c. epiy III 
d. epiy IV    e. tpil njhpatpy;iy 
 

129. Which is the correct criteria for declaring an enterprise as “Micro”? 
(i) The investment in plant and Machinery does not exceed Rs. 25 lakh 
(ii) The enterprise should fall in the category of manufacturing sector and not service 
sector 
Select correct answer by using the code given below: 
a. (i) only    b. (ii) only   c. Both (i) and (ii) 
d. Neither (i) nor (ii)   e. Answer not known 
epWtdq;fis ‘ikf;Nuh’ vd;W mwptpg;gjw;fhd rhpahd msTNfhy; vJ? 

 i. Miy kw;Wk; ,ae;jpuq;fspd; KjyPL 25 yl;rj;ij jhz;lhJ 
 ii. epWtdkhdJ cw;gj;jp Jiwapd; gphptpy; tuNtz;Lk; Nritj; Jiw  my;y 
 FwpaPLfs; %yk; rhpahd tpilia Njh;T nra;f. 

a. i kl;Lk;    b. ii kl;Lk;   c. i kw;Wk; ii ,uz;Lk; 
d. ,uz;Lkpy;iy   e. tpil njhpatpy;iy 
 

130. Consider the following statement 
(i) Mahalwari system, was introduced by William Bentick 
(ii) Mahalwari system was introduced in the year 1833 
(iii) The owner of the land is Government in Mahalwari system 
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(iv) The Village committed was held responsible for collection of taxes in Mahalwari 
system 

 From there which are correct statement? 
a. (i), (ii) and (iii)   b. (iii) and (iv)  c. (i),(ii) and (iv) 

d. (i) and (iv)    e. Answer not known 
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gpd;tUk; $w;iw ftdp 
i. tpy;ypak; ngd;bf; vd;gtuhy; k`y;thhp Kiw mwpKfg;gLj;jg;gl;lJ 
ii. k`y;thhp Kiw> 1833 Mk; Mz;L Njhw;Wtpf;fg;gl;lJ 
iii. k`y;thhp Kiwapy;> murhq;fNk epyj;jpd; nrhe;jf;fhuh; Mthh;  
iv. k`y;thhp Kiwapy; fpuhk FOthdJ thp t#ypf;Fk; nghWg;G nfhz;lJ  
,tw;Ws; vit rhpahd $w;W? 
a. (i), (ii) kw;Wk; (iii)   b. (iii) kw;Wk;  (iv)  c. (i),(ii) kw;Wk;  (iv) 
d. (i) kw;Wk;  (iv)   e. tpil njhpatpy;iy 
 

131. Green Revolution has been most successful in which of following pairs of crops? 
a. Wheat and Rice   b. Wheat and Oil seeds c. Sugarcane and cotton 
d. Wheat and pulses  e. Answer not known 
gRik Gul;rp ve;j gaph;fspd; N[hbapy; kpfTk; ntw;wpfukhf nray;gl;lJ? 
a. NfhJik kw;Wk; mhprp   b. NfhJik kw;Wk; vz;nza; tpj;Jf;fs; 
c. fUk;G kw;Wk; gUj;jp   d. NfhJik kw;Wk; gUg;G tiffs;  
e. tpil njhpatpy;iy 
 

132. Which of the following is/are related to the land reforms programmes in India? 
i. Ceiling on land holdings    ii. Consolidation of holdings 
iii. Cooperative farming    iv. Zamindari abolition 
a. (ii) only     b. (i) and (iv) only   
c. (i),(ii) and (iv) only   d. (i),(ii),(iii) and (iv)   
e. Answer not known 
fPNo fhzg;gLk; ,dq;fspy; ,e;jpahtpd; epyr; rPh;jpUj;j jpl;lq;fspy; njhlh;GilaJ 
vJ/ahit? 
i. epy cr;r tuk;G eph;zak;   ii. epyj; njhFg;G     
iii. $l;Lg;gz;iz    iv. [kpd;jhhp Kiw xopg;G 
a. (ii) kl;Lk;     b. (i) kw;Wk; (iv) kl;Lk; 
c. (i) (ii) kw;Wk; (iv) kl;Lk;   d.  (i)(ii)(iii) kw;Wk; (iv) 
e. tpil njhpatpy;iy 
 

133. Indian Constitution makes a clear division of fiscal powers between the states and the 
centre government under which Articles? 
a. Article 462 and 392   b. Article 642 and 932 
c. Article 264 and 293   d. Article 426 and 329 
e. Answer not known 
,e;jpa murpay; mikg;Gr; rl;lj;jpd; ve;j cl;gphptpd; fPo;> kj;jpa – khepy muRfs; 
epjpg;gfph;T mjpfhuk; toq;fg;gl;bUf;fpwJ? 
a. cl;gphpT 462 kw;Wk; 392   b. cl;gphpT 642 kw;Wk; 932 
c. cl;gphpT 264 kw;Wk; 293   d. cl;gphpT 426 kw;Wk; 329 
e. tpil njhpatpy;iy 
 

134. The population growth rate during 1911- 21 was negative due to epidemics like 
(i) Cholera     (ii) Plague    
(iii) Influenza   (iv) Famines 
a. (i),(ii),(iii), (iv)   b. (ii), (iii), (i), (iv)   c. (i), (ii),(iv),(iii) 
d. (ii),(i),(iv), (iii)   e. Answer not known 
1911-21 Mz;Lfspy; kf;fs; njhif tsh;r;rp vjph;kiwahf ,Ue;jjw;F vJ fhuzkhf 
,Ue;jJ? 
i. fhyuh    ii. gpNsf;   
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iii. ,d;/G@ad;]h    iv. gQ;rk; 
a. (i),(ii),(iii), (iv)   b. (ii), (iii), (i), (iv)   c. (i), (ii),(iv),(iii) 
d. (ii),(i),(iv), (iii)   e. tpil njhpatpy;iy   
 

135. Consider the following statement 
(i) Reserve Bank of India is a custodian of forex 
(ii) Reserve Bank of India was formed on April 1 1934 
(iii) Reserve Bank of India also called “Lendor of first Resort” 
(iv) Reserve Bank of India collects receipts of funds and makes payments as behalf of 
the Government out of these, which are correct statement? 

 a. (ii) and (iv)   b. (i) and (iv)   c. (i) and (ii) 
 d. (ii) and (iii)  e. Answer not known 

gpd;tUk; $w;iw ftdp. 
(i) ,e;jpa hprh;t; tq;fp me;epar; nryhtzpapd; ghJfhtyd; 
(ii) ,e;jpa hprh;t; tq;fp 1934 Mk; Mz;L Vg;uy; 1 Mk; Njjp Jtq;fg;gl;lJ 
(iii) ,e;jpa hprh;t; tq;fp Kjy; epiyf; fld; <Nthd; vd;W miof;fg;gLfpwJ. 
(iv) ,e;jpa hprh;t; tq;fp murpw;fhd epjp tUthia ngw;Wf;nfhs;Sjy; kw;Wk; murpd; 
nrytpdq;fSf;Fg; gzk; toq;Fjy; Nghd;w gzpfis nra;fpwJ. 
a. (ii) kw;Wk; (iv)   b. (i) kw;Wk; (iv)  c. (i) kw;Wk; (ii) 
d. (ii) kw;Wk; (iii)   e. tpil njhpatpy;iy 
 

136. Who is the chairman of central board of directors of RBI? 
a. RBI Governor   b. Finance Minister  c. Prime Minister 
d. Home Minister   e. Answer not known 
,e;jpa hprh;t; tq;fpapd; kj;jpa ,af;Fdh;fs; FOtpd; jiyth; ahh;? 
a. hprh;t; tq;fp fth;dh;  b. epjp mikr;rh;  c. gpujkh;  
d. cs;Jiw mikr;rh;  e. tpil njhpatpy;iy 
 

137. Nehru Mahalanobis model was based on 
(i) a high rate of savings so as to boost investment to a higher level 
(ii)It preferred a heavy industry bias to develop the industrial base of the economy 
(iii) It opted for the protectionist path so as safeguard infant industry  
(iv) It encouraged import substitution so as to achieve self reliance 
a. (i) and (ii) only   b. (ii) and (iii) only  c. (ii) and (iv) only  
d. (i), (ii),(iii) and (iv)  e. Answer not known 
NeU kfyNdhgp]; khly; vjd; mbg;gilapy; cs;sJ 
(i)  Nrkpg;G tpfpjk; mjpfhpj;jhy; KjyPL tpfpjk; mjpfhpf;Fk; 
(ii) njhopy; rhh;e;j nghUshjhuj;jpw;F fduf njhopy;fSf;F Kf;fpaj;Jtk;      
mspj;jy; 
(iii) tsUk; njhopy;fSf;F ghJfhg;G mspj;jy; 
(iv) jd;dpiwT mila ,wf;Fkjp gjpyPl;Lf;F Mjhpj;jy; my;yJ Cf;Ftpj;jy; 
a. (i) kw;Wk; (ii) kl;Lk;    b. (ii) kw;Wk;  (iii) kl;Lk; 
c. (ii) kw;Wk;  (iv) kl;Lk;    d. (i), (ii),(iii) kw;Wk;  (iv) kl;Lk; 
e. tpil njhpatpy;iy 
 

138. Why was the NITI Aayog formed? 
(i) to promote co-operative federation 
(ii) to decentration the planning 
(iii) to control the population growth 
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(iv) to settle inter-sectoral / Inter state conflicts 
a. (ii) and (iii) only   b. (i) and (ii) only   c. (i) and (iv) only 
d. (i)(ii) and (iii) only  e. Answer not known 
NITI Aayog-Vd; cUthf;fg;gl;lJ? 
(i)  $l;LwT $l;lhl;rp Kiwia Cf;Ftpj;jy; 
(ii)  Ftpay; my;yhj gutyhf;fg;gl;l jpl;lkpLjy; 
(iii) JiwfSf;Fk; /khepyq;fSf;Fk; ,ilNa cs;s Nkhjy;fis fisjy; 
(iv)  kf;fs; njhifapid fl;Lg;gLj;Jjy;   
a. (ii) kw;Wk;  (iii)  kl;Lk;   b. (i) kw;Wk; (ii) kl;Lk; 
c. (i) kw;Wk; (iv) kl;Lk;   d. (i)(ii) kw;Wk; (iii) kl;Lk; 
e. tpil njhpatpy;iy 
 

139. Which of the following dimensions are used in the concept of multi dimensional 
poverty index? 
(i) Health    (ii) Education   
(iii) Living standards  (iv) Income levels  
a. (ii) and (iv)   b. (i)(ii) and (iii) only  c. (ii),(iii) and (iv) only 
d. (i)(iii) and (iv) only e. Answer not known 
gpd;tUk; ghpzhkq;fspy; vit gy ghpkhz tWik FwpaPl;by; gad;gLj;jg;gLfpwJ? 
(i) Rfhjhuk;    (ii) fy;tp   
(iii) tho;f;ifj; juq;fs;  (iv) tUkhd epiyfs;  
a. (ii) kw;Wk;   (iv)    b. (i)(ii) kw;Wk; (iii) kl;Lk;  
c. (ii),(iii) kw;Wk; (iv)kl;Lk;   d. (i)(iii) kw;Wk; (iv) kl;Lk;  
e. tpil njhpatpy;iy 
 

140. ‘Garibi Hatao’ and ‘Growth with social justice’ related to which five year plan in India? 
a. Second five year plan  b. Third five year plan c. Fourth five year plan 
d. Fifth five year plan  e. Answer not known 
‘tWikia tpul;LNthk;’ kw;Wk; ‘r%f ePjpAld; tsh;r;rp’ vd;gJ ,e;jpahtpy; ve;j 
Ie;jhz;Lj; jpl;lj;Jld; njhlh;GilaJ? 
a. ,uz;lhtJ Ie;jhz;Lj; jpl;lk;  b. %d;whtJ Ie;jhz;Lj; jpl;lk; 
c. ehd;fhtJ Ie;jhz;Lj; jpl;lk;  d. Ie;jhtJ Ie;jhz;Lj; jpl;lk; 
e. tpil njhpatpy;iy 
 

141. Which of the following statements about the time limit to get the Information is/are 
true? 
(i) 30 days from the date of application 
(ii) 48 hours for information concerning the life or liberty of a person 
(iii) 5 days shall be added to the above response time incase the application for 
information in given to APIO 
a. (i) only   b. (i) and (ii) only   c. (ii) and (iii) only 
d. (i),(ii) and (iii)  e. Answer not known 
jftiyg; ngWk; fhy tiuaiw njhlh;ghd fPo;f;fhZk; $w;Wfspy; vJ/vit 
cz;ikahFk;? 
i. tpz;zg;gpj;j ehspypUe;J 30 ehl;fs; 
ii. Xh; eghpd; tho;T my;yJ Rje;jpuk; njhlh;ghd jftYf;F 48 kzp Neuk; 
iii. cjtpj; jfty; njhlh;G mjpfhhpaplk; ,Ue;J jfty; ngw Ntz;Lnkdpy; Ie;J 

ehl;fs; $Ljyhfyhk;. 
a. (i) kl;Lk;   b. (i) kw;Wk;  (ii) kl;Lk;  c. (ii) kw;Wk; (iii) kl;Lk; 
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d. (i),(ii) kw;Wk; (iii)  e. tpil njhpatpy;iy 
 

142. Which of the following statements are true about prime Minister’s office? 
(i) Assisting the prime minister in respect of his overall responsibilities 
(ii)Maintaining liaison with president, Governors and foreign Representatives in the 
country 
(iii) Settles disputes between the ministries 
a. (i) only   b. (ii) and (iii) only    c. (i) and (ii) only 
d. (i) and (iii) only  e. Answer not known 
gpujk ke;jphp mYtyfj;ijg; gw;wpa gpd;tUk; nrhw;nwhlhpy; vit rhpahdit? 
i. gpujk ke;jphpapd; midj;Jg; nghWg;GfisAk; nra;tjw;F cjtp nra;jy; 
ii. FbauRj; jiyth;> MSeh;fs; kw;Wk; ntspehl;L gpujpepjpfsplk; njhlh;gpidg; 
guhkhpj;jy; 
iii. mikr;rfq;fSf;fpilNa cs;s rpf;fy;fisj; jPh;j;Jitj;jy; 
a. (i) kl;Lk;      b. (ii) kw;Wk; (iii) Mfpad kl;Lk; 
c. (i) kw;Wk; (ii) Mfpad kl;Lk;   d. (i) kw;Wk; (iii) Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

143. Which of the following statements are true about Balwant Raj Mehta Committee? 
(i) Establishment of three – tier panchayati Raj system 
(ii) Village Panchayath should be constituted with directly elected representatives 
(iii) The district collector should not be the chairman of the Zila Parishad 
a. (i) only   b. (i) and (iii) only  c. (i) and (ii) only   
d. (ii) and (iii) only  e. Answer not known 
gy;te;j;uha; Nkj;jh FOtpidg; gw;wpa nrhw;nwhlh;fspy; gpd;tUtdtw;Ws; vit 
rhpahdit 
(i) %d;W mLf;Fg; gQ;rhaj;Juh[; Kiwikia Vw;gLj;Jjy; 
(ii) fpuhkg; gQ;rhaj;Jf;fs; kf;fshy; Neubahfj; Njh;e;njLf;fg;gl;lth;fshy; 
cUthf;fg;gLjy; 
(iii) [py;yh ghp~j;jpd; jiytuhf khtl;l Ml;rpah; ,Uj;jy; $lhJ 
a. (i) kl;Lk;      b. (i) kw;Wk; (iii) Mfpad kl;Lk; 
c. (i) kw;Wk; (ii) Mfpad kl;Lk;   d. (ii) kw;Wk; (iii) Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

144. Assertion (A):  Corruption emanates at the top political and administrative levels. 
Reason (R) :  The Top level involvement makes eradication of corruption nearly 
impossible 
a. (A) is true but (R)is false 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. (A) is false (R) is true 
d. Both (A) and (R) are true but (R) is not correct explanation of (A) 
e. Answer not known 
$w;W (A): Coy; ch;kl;l murpay; kw;Wk; eph;thf epiyfspy; ntspg;gLfpwJ. 
fhuzk;(R): Coy; cah;kl;l epiyfspy; cs;sjhy; ,jid xopj;jy; vd;gJ 
rhj;jpakw;wjhfpwJ. 
a. (A) rhpahdJ Mdhy; (R) jtwhdJ    
b. (A) kw;Wk; (R) ,uz;Lk; rhpahdit kw;Wk; (R) vd;gJ (A) tpd; rhpahd 
tpsf;fkhFk;. 
c. (A) rhpahdJ (R)jtwhdJ    
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d. (A) kw;Wk; (R) rhpahdJ. Mdhy; (R)> (A) tpd; rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 
 

145. The state in India were re-organised on which of the following the basis of 
a. Cultural and lingual homogeneity  b. Administrative convenience 
c. Culture and traditions    d. Language of the people 

e. Answer not known 
,e;jpahtpy; fPo;fz;l vjd; mbg;gilapy; khepyq;fs; kWrPuikg;G nra;ag;gl;lJ 
a. fyhr;rhu kw;Wk; nkhop xUikg;ghL  b. eph;thf trjp 
c. fyhr;rhuk; kw;Wk; ghuk;ghpak;   d. kf;fspd; nkhop 
e. tpil njhpatpy;iy 
 

146. The Slogan, “Voice of people may be the voice of God” is suitably associated with 
a. Popular Sovereignty    b. Citizen participation 
c. Democratic Decentralization   d. Prevention of corruption 
e. Answer not known 
‘kf;fspd; Fuy; flTspd; Fuyhf ,Uf;fyhk;’ vd;w Kof;fk; kpfr; rhpahfg; nghUe;JtJ 
a. kf;fs; ,iwik     b. kf;fs; gq;Nfw;G 
c. kf;fshl;rp mjpfhug; gutyhf;fk;   d. Coy; jLg;G eltbf;if 
e. tpil njhpatpy;iy 
 

147. Consider the following statements. Choose the correct answer 
(i) Protection of Human Rights Act was passed in 1993 
(ii) Protection of Human Rights Act was Amended in the year 2003 
(iii) Human Rights courts in the district can be set up by the concurrence of the 
Governor of the State 
(iv) An Advocate of seven years experience may be appointed as a special public 
prosecutor for a Human Rights court 
a. (i) and (iii) only   b. (i) and (iv) only  c. (iii) and (i) only  
d. (ii) and (iii) only   e. Answer not known 
fPo;fz;l thf;fpaq;fisf; fUJf. rhpahd tpiliaj; Njh;e;njL. 
(i)  kdpj chpik ghJfhg;Gr; rl;lk; 1993 -Mk; Mz;L ,aw;wg;gl;lJ 
(ii) kdpj chpik ghJfhg;Gr; rl;lk; 2003 -Mk; Mz;L jpUj;jk; nra;ag;gl;lJ 
(iii) khepy MSehpd; xg;GjYld; khtl;lj;jpy; kdpj chpik ePjpkd;wj;ij epWt KbAk; 
(iv) kdpj chpikfs; ePjpkd;wj;jpw;F 7 tUlk; mDgtk; nfhz;l tof;fwpQh; xUth; 
rpwg;G muR tof;fwpQuhf epakpf;fg;glyhk; 
a. (i) kw;Wk; (iii) kl;Lk;     b. (i) kw;Wk;  (iv) kl;Lk;  
c. (iii) kw;Wk; (i) kl;Lk;     d. (ii) kw;Wk; (iii)  
e. tpil njhpatpy;iy 
 

148. Which of the following is incorrectly paired? 
(i) Santhanam committee  - Anti corruption 
(ii) Balwantrai Mehta Committee - Local government 
(iii) S.R. Das Commission  - District Administration 
(iv) Sarkaria Commission  - Inquiry commission on corruption 
a. (i) and (iii) only   b. (i) and (ii) only  c. (iii) and (iv) only  
d. (ii) and (iii) only   e. Answer not known 
gpd;tUtdtw;Ws; vJ/vit jtwhd ,iz(fs;)? 
(i) re;jhdk; FO   - Coy; xopg;G 
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(ii) gy;te;j;uha; Nkj;jh FO - cs;shl;rp murhq;fk; 
(iii) S.R. jh]; Mizak; - khtl;l eph;thfk; 
(iv) rh;fhhpah Mizak; - CoYf;fhd tprhuiz Mizak;  
a. (i) kw;Wk; (iii) Mfpad kl;Lk;  b. (i) kw;Wk; (iii) Mfpad kl;Lk; 
c. (iii) kw;Wk; (iv) Mfpad kl;Lk;  d. (ii) kw;Wk; (iii) Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

149. The Lokpal bill was introduced for the first time in Loksabha in the year  
a. 1968  b. 1971 c. 2011  d. 2013 e. Answer not known 
‘Nyhf;ghy; kNrhjh’ Kjd; Kjyhf kf;fsitapy; mwpKfg;gLj;jg;gl;l Mz;L 
a. 1968  b. 1971 c. 2011  d. 2013 e. tpil njhpatpy;iy 
 

150. Match correctly the writs with their meanings 
A. Mandamus   1. To Stop 
B. Habeas corpus   2. To certify 
C. Certiorary    3.  To command 
D. Prohibition   4.  To have the body 
 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 4 2 1 3 
d. 1 4 3 2 
e. Answer not known 
hpl; (Nguhizfis) mjd; nghUSld; rhpahfg; nghUj;Jf. 
A. fl;lis ePjpg;Nguhiz   1.epWj;jy; 
B. Ml;nfhzh;tpf;Fk; ePjpg;Nguhiz 2.rhd;wspj;jy; 
C. newpKiwAWj;Jk; ePjpg;Nguhiz 3.Mizaply; 
D. jil nra;Ak; ePjpg; Nguhiz  4.cliyf;nfhz;L tUjy; 

A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 4 2 1 3 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
 

151. __________ is responsible for the preparation of electoral rolls for a parliamentary / 
assembly constituency. 
a. Chief Electoral Officer    b. Returning Officer 
c. Electroral registration Officer   d. Presiding Officer 
e. Answer not known 
ghuhSkd;w my;yJ rl;lkd;wj; njhFjpf;fhd Njh;jy; gl;bay;fisj jahhpg;gJ ______ 
nghWg;G. 
a. jiyik Njh;jy; mjpfhhp   b. jpUg;Gjy; mjpfhhp 
c. Njh;jy; gjpT mjpfhhp    d. jiyik mjpfhhp 
e. tpil njhpatpy;iy 
 

152. Read the following choose the correct option given below: 
Assertion (A): The Constitution of India is not an absolute Federal Constitution 
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Reason (R):  The structural – functional balance is in favour of the supremacy of 
 the union. 
a. (A) is true (R)is false    
b. (R)is true (A)is false 
c. Both (A) and (R)are correct, (R) is not correct explanation of (A) 
d. Both (A) and (R)are correct, (R)is the correct explanation of (A)  
e. Answer not known 
gpd;tUtdtw;iwg; gbj;Jr; rhpahd tpiliaj; Njh;e;njLf;fTk; 
JzpG (A)  :,e;jpa murpayikg;Gr; rl;lk; KOikahd $l;lhl;rp murpayikg;G my;y 
fhuzk; (R) :mikg;G -nray; rkepiyahdJ> xd;wpaj;jpd; typikf;Fr; rhjfkhf 

,Uf;fpwJ  
a. (A) rhp (R) jtW    
b. (R) rhp (A) jtW 
c. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) MdJ> (A) Tf;Fr; rhpahd tpsf;fkhfhJ 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> (R) MdJ (A)f;Fr; rhpahd tpsf;fkhFk; 
e.  tpil njhpatpy;iy 
 

153. The Executive Officer of the Cantonment Board is appointed by 
a. Mayor    b. District Collector  c. Home Ministry 
d. The President of India  e. Answer not known 
,uhZt FbapWg;G gFjp thhpaj;jpd; eph;thf mjpfhhpia epakpg;gth; 
a. Nkah; (khefuhl;rp jiyth;)  b. khtl;l Ml;rpah; 
c. cs;Jiw mikr;rfk;   d. ,e;jpaf; FbauRj; jiyth; 
e. tpil njhpatpy;iy 
 

154. Match the following 
A. Article 156  1. Pardoning power of the Governor 
B. Article 155   2.  Term of office of the Governor 
C. Article 157   3.  Appointment of the Governor 
D. Article 161  4. Qualification for appointment as Governor 
 A B C D 
a. 2 3 4 1 
b. 1 2 3 4 
c. 4 3 2 1 
d. 3 4 2 1 
e.  Answer not known 
gpd;tUtdtw;Wld; nghUj;Jf. 
a. rl;lg;gphpT 156  1. MSehpd; kd;dpg;G mjpfhuk;    
b. rl;lg;gphpT 155  2. MSehpd; gjtpf; fhyk; 
c. rl;lg;gphpT 157  3. MSehpd; epakdk;  
d. rl;lg;gphpT 161  4. MSeuhf epakdk; nra;gtjw;fhd jFjpfs;  

A B C D 
a. 2 3 4 1 
b. 1 2 3 4 
c. 4 3 2 1 
d. 3 4 2 1 
e.  tpil njhpatpy;iy 
 

155. Estimates committee of Parliament consists of _______ members 
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a. 20  b.12  c. 27  d. 30  e. Answer not known 
ghuhSkd;wj;jpd; kjpg;gPl;Lf; FOtpy; ______ mq;fj;jpdh;fs; cs;sdh;. 
a. 20  b.12  c. 27  d. 30  e. tpil njhpatpy;iy 
 

156. Who described Directive Principle of State policy as a ‘novel feature’ of Indian 
Constitution? 
a. Dr. B.R. Ambedkar   b. Mahatma Gandhi   c. Pylee 
c. Mountbaten    e. Answer not known 
muR topfhl;L newpKiwf; nfhs;iffs; ,e;jpa murpayikg;gpd; ‘GJikahd ,ay;G’ 
vd tpthpj;jth; ahh;? 
a. lhf;lh;. gp.Mh;.mk;Ngj;fh;   b. kfhj;kh fhe;jp   c. igyp 
d. nksd;l;Ngl;ld;    e. tpil njhpatpy;iy 
 

157. Which one of the statements is correct regarding the Subramaniya Siva? 
1. He started dharma Paripana Samajam at Trivandrum 
2. He Participated the Coral Mill Strike at Tuticorin 
3. He started “Gnana Panu”, a monthly journal at Chennai in 1913 
4. He started “Bharatha Asiramam” in Karaikudi in 1921 
a. 1,2,3 are correct 4 only incorrect  b. 1,2,3,4 are correct 
c. 1,3,4 are correct 2 only incorrect   d. 1,2,3,4 not correct 
e. Answer not known 
fPo;f;fz;l $w;Wfspy; Rg;gpukzpa rpthit gw;wp jtwhd $w;W vJ? 
1.Rg;gpukzpa rpth “jh;k ghpghyd rkh[k;” vd;w mikg;ig jpUtde;jGuj;jpy; 
Vw;gLj;jpdhh; 
2. ,th; J}j;Jf;Fb Nfhuy; kpy; Ntiy epWj;jj;jpy; fye;J nfhz;lhh;. 
3. ,th; 1913 y; ‘QhdghD’ vd;w khj ,jio nrd;idapy; Muk;gpj;jhh; 
4. ,th; ghuj Mrpukk; vd;w mikg;ig 1921 y; fhiuf;Fbapy; Muk;gpj;jhh;. 
a. 1>2>3 rhpahd $w;W 4 jtwhdJ   b. 1>2>3>4 rhpahd $w;W 
c. 1>3>4 rhpahd $w;W 2 kl;Lk; jtwhdJ  d. 1>2>3>4 $w;Wfs; jtwhdJ 
e. tpil njhpatpy;iy 
 

158. Which of the following statements are true about secular democracy? 
(i) State will not be controlled by any religion 
(ii) Discrimination will be shown by the state against any person on account of his / her 
religion 
(iii) State guarantees to everyone the right to profess whatever religion one chooses to 
follow 
a. (i) and (iii) only  b. (i) and (ii) only   c. (ii) and (iii) only 
d. (i) only   e. Answer not known 
kjrhh;gw;w kf;fshl;rp gw;wpa gpd;tUk; nrhw;nwhlhpy; vit/vJ rhpahdit/rhpahdJ? 
i. muR ve;j xU kjj;jhYk; fl;Lg;gLj;jg;glhJ 
ii. xUtUila kjj;jpdpkpj;jk; mth;fs; kPJ muR ghFghL fhl;Lk;. 
iii. xUth; ve;j kjj;ij gpd;gw;w tpUk;GfpwhNuh mijf; filgpbf;Fk; chpikia muR 
midtUf;Fk; cWjp nra;fpwJ. 
a. (i) kw;Wk; (iii) Mfpad kl;Lk;  b. (i) kw;Wk; (iii) Mfpad kl;Lk; 
c. (iii) kw;Wk; (iv) Mfpad kl;Lk;  d. (ii) kw;Wk; (iii) Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
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159. Which of the following statement is true about the last line of the Preamble of the 
Indian Constitution? 
a. Do hereby adopt, Enact and give to the nation this Constitution 
b. Do hereby adopt, Enact and give to ourselves this Constitution 
c. Do hereby adopt, Enact and dedicate to the country this Constitution 
d. Do hereby adopt, Enact and dedicate to the nation this Constitution 
e. Answer not known 
gpd;tUk; $w;Wfspy; vJ rhpahd> ,e;jpa murpay; mikg;Gr; rl;l KfTiuapd; filrp 
thpahFk;. 
a. ,t;topahf murpay; mikg;Gr; rl;lj;jpidj; jd;takhf;fp> ,aw;wp ehl;bw;F 
mspf;fpNwhk; 
b. ,t;topahf murpay; mikg;Gr; rl;lj;jpidj; jd;takhf;fp> vq;fSf;F mspj;Jf; 
nfhs;fpNwhk; 
c. ,t;topahf murpay; mikg;Gr; rl;lj;jpidj; jd;takhf;fp> ,aw;wp ehl;bw;F (country) 
mh;g;gzpf;fpNwhk; 
d.,t;topahf murpay; mikg;Gr; rl;lj;jpidj; jd;takhf;fp> ,aw;wp Njrj;jpw;F 
(Nation) mh;g;gzpf;fpNwhk; 
e. tpil njhpatpy;iy 
 

160. Of the following three statements identify the true statement(s) on Indian Constitution. 
(i) Indian Constitution is a socially constructed document 
(ii) Indian Constitution is unwritten customs and practices 
(iii) Indian Constitution is a text subject to interpretative practices of both parliament 
and judiciary 
a. (i) only    b. (i) and (iii) only  c. (i) and (ii) only  
d. (ii) and (iii) only   e. Answer not known 
fPo;f;fz;l %d;W $w;Wfspy; ,e;jpa murpayikg;Gr; rl;lk; Fwpj;j rhpahd $w;iwf; 
fz;lwpf. 
i. ,e;jpa murpayikg;Gr; rl;lk; r%fq;fshy; fl;likf;fg;gl;l Xh; Mtzk; 
ii.,e;jpa murpayikg;Gr; rl;lk; vd;gj vOjg;glhj kuGfSk; tof;fhWfSk; MFk;. 
iii. ,e;jpa murpayikg;Gr; rl;lk; vd;gJ ghuhSkd;wj;jhYk; ePjpkd;wj;jhYk; 
ciutpsf;fk; nra;ag;gLk; xU gDty;    
a. (i) kl;Lk;     b. (i) kw;Wk; (iii) Mfpad kl;Lk; 
c. (i) kw;Wk; (ii) Mfpad kl;Lk;  d. (ii) kw;Wk; (iii) Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

161. “The Music of India is the finest in the World” Who said this? 
a. Amir Khusrau   b. Aurangazeb  c. Minhaj Us Siraj 
d. Barani    e. Answer not known 
“,e;jpahtpDila ,ir cyfstpy; rpwe;jjhf ,Uf;fpwJ” vd;w fUj;J ahUilaJ? 
a. mkPh; F~;U   b. xsuq;frPg;  c. kpd;̀ [; c]; rpuh[; 
d. guhzp    e. tpil njhpatpy;iy 
 

162. Kalibangan is situated on the banks of River 
a. Ravi    b. Sutlej   c. Beas 
d. Ghaggar    e. Answer not known 
fhspgq;fd; ve;j Mw;wq;fiuapy; mike;Js;sJ/ 
a. uhtP     b. rl;y[;   c. gpah];   
d. fhfh;    e. tpil njhpatpy;iy 
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163. Choose the right answer 
Which of the following statements are true about Qutub – ud-din 

 (i) He was the real founder of the Turkish dominion in India 
 (ii) He organized the ‘Group of Forty’ 
 (iii) He started the construction of Qutub Minar 
 a. (i) only    b. (i) and (ii) only  c. (ii) and (iii) only 

d. (i) and (iii) only   e. Answer not known 
rhpahd gjpiyj; Njh;e;njLf;fTk;. 
Fj;Gjpd; gw;wp gpd;tUk; $wWfspy; vit cz;ikahdit? 
i. mth; jhd; ,e;jpahtpy; JUf;fpa Mjpf;fj;jpid cz;ikahf epWtpdhh;. 
ii. mth; jhd; ‘ehw;gjpd;kh; FOit’ Vw;ghL nra;jhh; 
iii. mth; ‘FJg;kpdhh;’ fl;llj;jpd; fl;Lkhdg; gzpiaj; njhlq;fpdhh;  
a. (i) kl;Lk;    b. (i) kw;Wk; (ii) kl;Lk; c. (ii) kw;Wk; (iii) kl;Lk; 
d. (i) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
   

164. Reason and Assertion type 
Assertion (A): Akbar introduced the Mansabdari system 
Reason (R) :  This system was borrowed from Iran 
a. (A) is true (R)is false   
b. Both (A) and (R) are true, and (R) is the correct explanation of (A)  
c. (A) is false (R)is true 
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W kw;Wk; fhuzk; 
$w;W (A) : mf;gh; khd;rg;jhhp Kiwia mwpKfg;gLj;jpdhh;. 
fhuzk; (R) : ,e;j Kiw <uhdpypUe;J fld; thq;fg;gl;lJ 
a. (A) rhp (R) jtW   
b. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fkhFk;
    
c. (A) jtW Mdhy; (R)rhp    
d. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp Mdhy; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;fky;y    
e. tpil njhpatpy;iy 
 

165. Which foreign traveller mention that “The circumference of the Vijaya Nagar city was 
sixty miles” 
a. Edoardo Barbosa   b. Nicola Conti  c. Abdur Razzaq 
d. Damingos Poes   e. Answer not known 
“tp[aefuk; efuj;jpd; Rw;wsT mWgJ iky;” vd;W Fwpg;gpLk; ntspehl;L gazp ahh;? 
a. nlhh;Nlh ghh;Ngh~h  b. epf;Nfhyh fhz;b c. mg;Jh; u~hf;  
d. Nlhkpd;Nfh Ngha];  e. tpil njhpatpy;iy 
 

166. Assertion (A): A foreigner can practice his own religious faith in India. 
Reason(R):  The freedom of religion is guaranteed by the Constitution not only 
for the Indians but also for the foreigners. 
a. (A) is true but (R)is false 
b. Both (A) and (R) are true and (R) is correct explanation of (A) 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
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e. Answer not known 
$w;W (A): xU ntspehl;lth; jdJ nrhe;j kj ek;gpf;ifia ,e;jpahtpy; filg;gpbf;f 
KbAk; 
fhuzk;(R): kj Rje;jpuk; ,e;jpa murpayikg;gpd; %yk; cWjp nra;ag;gl;Ls;sJ. 
mit ,e;jpah;fSf;F kl;Lk; my;y ntspehl;bdh;f;Fk; nghUe;Jk;. 
a. (A) rhp Mdhy; (R) jtW    
b. (A) kw;Wk; (R) rhp (R)> (A)f;F rhpahd tpsf;fk;    
c. (A) jtW Mdhy; (R) rhp    
d. (A) kw;Wk; (R) rhp Mdhy; (R)> (A)f;F rhpahd tpsf;fk; ,y;iy  
e. tpil njhpatpy;iy 
 

167. Indian traders sailed to the region stretching from Burma to Indonesia called 
a. Suvarnabhumi    b. Land of silver  c. Land of Precious stones 
d. Land of Diamond   e. Answer not known 
,e;jpa th;j;jfh;fs; gh;khtpypUe;J ,e;NjhNdrpah tiu gazk; nra;j gFjpf;F ______ 
vd;W ngah;. 
a. Rth;z g+kp      b. nts;sp epyg;gFjp   
c. tpiyAah;e;j fw;fs; epyk;   d. itu epyg;gFjp    
e. tpil njhpatpy;iy 
 

168. Choose the wrong statement 
Survival of Indus cultural features on modern Indian society 
a. Models of cart as toys remains in India 
b. Foot-wheel pottery remains in North – west India 
c. The Indus technology of making beads from semi – precious stones remains today 
d. The citadel system of town planning remains today 
e. Answer not known 
jtwhd $w;iwj; njhpTnra;f 
jw;fhy ,e;jpar; r%fj;jpy; njhlh;e;J eilKiwapypUf;Fk; rpe;J rkntsp ehfhPf 
gz;ghl;Lf; $Wfs;. 
a. jw;fhy ,e;jpahtpy; rpe;J ehfhPf nghk;ik tz;b khjphpfs; Gof;fj;jpYs;sd. 
b. rpe;J ehfhPf fhy; rf;fu kl;ghz;lq;fs; jw;NghJk; tlNkw;F ,e;jpahtpy; 
Gof;fj;jpYs;sd 
c. tpiyAah;e;j fw;fspypUe;J ghrpkzp jahhpf;Fk; rpe;J ehfhPf njhopy;El;gk; jw;NghJk; 
eilKiwapYs;sJ.    
d. Nfhl;il muZld; $ba efu fl;likg;G jpl;lk; jw;NghJk; eilKiwapYs;sJ 
e. tpil njhpatpy;iy 
                      

169. Alla Sani Peddana was the greatest and he was often described as  
a. Andhra Bhoja    b. Andra Kavita – Pitamaha 
c. Hasan Gangu    d. Gajabentakara 
e. Answer not known 
my;yh rhdp ngj;jd;dh kpfTk; rpwe;jth; kw;Wk; mth; mbf;fb _______ vd 
tpthpf;fg;gl;lhh;. 
a. Me;jpu Ngh[h    b. Me;jpuftpjh gpjhkfd;    
c. `rd; fq;F    d. f[ngz;lfuh    
e. tpil njhpatpy;iy 
 

170. The most famous Calligraphist at Akbar’s court was Muhammad Husain Kashmiri and 
he was given ______ title 
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a. Zarin Qalam   b. Abul Fazl   c. Ustad Ahmad 
d. Abdur Rahim   e. Answer not known 
mf;ghpd; muritapy; kpfTk; gpugykhd vOJgth; K`k;kJ `{ird; fh~;kPhp Mthh;. 
mtUf;F ______ vd;w gl;lk; toq;fg;gl;lJ. 
a. [hhpd; fyk;   b. mGy; /g];y;  c. c];jhj; m`;kj; 
d. mg;Jh; u`Pk;   e. tpil njhpatpy;iy 
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171. Arrange the successors of Shivaji in Chronological order 
(i) Sahu- I    (ii) Shivaji – II  (iii) Raja Ram -I 
(iv) Sambhaji    (v) Ram Raja   
a. (iv),(iii),(ii),(i),(v)  b. (ii),(i),(v),(iii),(iv)  c. (v),(iv),(ii),(i),(iii) 
d. (i),(ii),(iii),(v),(iv)  e. Answer not known 
rpth[papd; thhpRfisr; rhpahff; fhythpirg;gLj;Jf. 
i. Kjyhk; ~h`{  ii. ,uz;lhk; rpth[p  iii. Kjyhk; ,uh[uhk; 
iv. rk;gh[p   v. ,uhk;uh[h   
a. (iv),(iii),(ii),(i),(v)  b. (ii),(i),(v),(iii),(iv)  c. (v),(iv),(ii),(i),(iii) 
d. (i),(ii),(iii),(v),(iv)  e. tpil njhpatpy;iy 

 
172. The agriculture department Diwan -i-Kohi was constituted by  

a. Ghiyas -ud-dinTughlak  b. Muhammad -bin Tughlak c. Firoz Tughlak 
d. Ghazi Mohammad  e. Answer not known 
jpthd; -,-Nfh`p vd;w tptrhaj; Jiwia Vw;gLj;jpath; 
a. fpah];RjPd; Jf;sf;  b. KfkJ gpd; Jf;sf;  c. gpNuh]; Jf;sf; 
d. f[pdp KfkJ   e. tpil njhpatpy;iy 
 

173. Assertion(A): The Gupta period is rightly called the ‘Golden Age’ of literature 
    and art. 
Reason (R):  There was deterioration in the position of women, decline of the 
    urban centres, increase in social disorder and subinfeudation in the 
    later Gupta times. 
a. Both (A) and (R)are correct and (R)Explains (A) 
b. Both (A) and (R) are correct but (R)  does not explains(A) 

 c. Only (A) is correct 
 d. Only (R) is correct 
 e. Answer not known 

$w;W (A) : Fg;jh; fhyk; ,yf;fpak;> fiy Mfpatw;wpd; nghw;fhyk; vd;W 
miof;fg;gLtJ rhpahFk;. 
fhuzk; (R): gpw;fhy Fg;jh; fhyj;jpy; ngz;fspd; epiyapy; rhpT> efh;g;Gw ikaq;fspd; 
tPo;r;rp> r%fr; rPh;FiyT mjpfhpg;G cl;gpsTfs; Mfpait ,Ue;jd. 
a. (A) kw;Wk; (R) rhpahdJ> (R) vd;gJ (A) tpw;F rhpahd tpsf;fkhFk; 
b. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fky;y 
c. (A) kl;LNk rhp    
d. (R) kl;LNk rhp    
e. tpil njhpatpy;iy 

 
174. The most important evidence of trade with Afghanisthan comes from an isolated 

Harappan trading outpost at 
a. Hajjar   b. Shortughai  c. Oman peninsula 
d. Hissar   e. Answer not known 
Mg;fhdp];jhDldhd th;j;jfj;jpd; kpf Kf;fpa Mjhukhf njhiytpy; cs;s 
`ug;gd;fspd; Gwf;fhty; epiyahf ,Ug;gJ 
a. `[hh;   b. ~hh;l;Lfha;   c. xkd; jPgfw;gk;  
d. `p];]hh;   e. tpil njhpatpy;iy 
 

175. Until A.D. 1425 __________ served as the capital of Bhamani state. 
a. Golconda   b. Gulbarga   c. Bidar 
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d. Ahmednagar  e. Answer not known 
fp.gp.1425 tiu ________ ghkpdp murpd; jiyefukhf tpsq;fpaJ 
a. Nfhy;nfhz;lh  b. Fy;gh;fh   c. gPlhh;   
d. mfkJefh;   e. tpil njhpatpy;iy 
 

176. As a renewable source, air replenishes by _______ process 
a. Respiration  b. Weather   c. Climate 
d. Tides   e. Answer not known 
GJg;gpf;fty;y Mw;wy; Mjhukhd fhw;W _______ nray;Kiwahy; njhlh;e;J 
epug;gg;gLfpwJ. 
a. Rthr   b. thdpiy   c. fhyepiy   
d. miyfs;   e. tpil njhpatpy;iy 
 

177. Assertion (A): Recent study shows that pregnant women and the foetus can be 
    affected indirectly by pesticides exposed in the environment. 
Reason (R):  The children between 0-9 years whose parent had occupational 
    exposure to pesticides, developed Acute Lymphoblastic 
    Anaemia(ALA) 
a. (A) is true, but (R)is false 
b. Both (A) and (R) are true and (R)is the correct explanation of (A) 
c. (A) is false but (R) is true 
d. Both (A) and (R)are true but (R)is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): fUTw;w ngz;fSf;Fk; fUtpy; ,Uf;Fk; Foe;ijf;Fk; Rw;W#oypy; 
   gutpAs;s G+r;Rf;nfhy;yp kUe;Jfshy; kiwKfkhfg; ghjpg;G Vw;gLtijj; 
   jw;Nghija Ma;Tfs; vLj;Jf;fhl;Lfpd;wd. 
fhuzk; (R): m/Fl; ypk;Nghgpsh];bf; mdpkpah (ALA) Mfpatw;wpdhy; ghjpf;fg;gl;L 0-9 
   tajpw;Fl;gl;l Foe;ijfspd; ngw;Nwhh;fs; G+r;rpnfhy;yp kUe;J jahhpf;Fk; 
   snjhopYld; njhlh;Gilath;fshf ,Uf;fpwhh;fs;. 
a. (A) vd;gJ rhp Mdhy; (A) vd;gJ jtW 
b. (A)kw;Wk; (R) vd;gJ rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fkhFk; 
c. (A) vd;gJ jtW Mdhy; (A) vd;gJ rhp    
d.(A)kw;Wk; (R) vd;gJ rhp. Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fkd;W  
e. tpil njhpatpy;iy 
 

178. Match the relevant statements 
List  I   List II 

 A. Earthquakes  1. Harbour wave 
 B. Soil erosion  2. Measured in Richter scale 
 C. Flood   3. Top soil removed by running water, flowing 
     wind or moving ice at faster rate 
 D. Tsunami  4. Water borne diseases 
  A B C D 

a. 2 4 3 1 
b. 3 2 1 4 
c. 2 4 1 3 
d. 2 3 4 1 
e. Answer not known 
rhpahd $w;iwg; nghUj;Jf. 
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 thpir I    thpir II 
A. epy eLf;fk;  1. JiwKf miy 
B. kz; mhpg;G   2. hpf;lh; msTNfhshy; msf;fg;gLfpwJ  
C. nts;sk;  3. ePNuhl;lk;> fhw;W tPRk; Ntfk;> efUk; gdpf;fl;bfs; 

 ,tw;wpd; mjpNtfj;jhy; kz; NkyLf;F mfw;wg;gLjy; 
D. Rdhkp (Mopg;Nguiy) 4. ePhpdhy; guTk; Neha;j;njhw;W   

A B C D 
a. 2 4 3 1 
b. 3 2 1 4 
c. 2 4 1 3 
d. 2 3 4 1 
e. tpil njhpatpy;iy 

 
179. Hindi language is belongs to 

a. The Indo-European family b. The Dravidian family  c. Austric family 
d. Sino-Tibetan family  e. Answer not known 
`pe;jp nkhop ve;j nkhop FLk;gj;ij rhh;e;jJ? 
a. ,e;Njh INuhg;gpa FLk;gk; b. jpuhtpl FLk;gk;       c. M];l;hpf; FLk;gk; 
d. rpNdh – jpngj;jpa FLk;gk; e. tpil njhpatpy;iy 
 

180. Assertion (A): Areas of high density of population in India are well watered, 
    arable how lands of fertile soils and easy transportation. 
Reason (R):  High density areas also contain old settlements 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R)are true but (R) is not correct explanation of (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 
$w;W (A):  ,e;jpahtpd; mjpf kf;fs; njhifnfhz;l gFjpfs; ePh; tsk; 
    kpf;fJ> Ntshz;ikNfw;w kz; tsk; kpf;f jho;epyq;fs; kw;Wk; 
    vspjhd Nghf;Ftuj;J trjpia nfhz;bUg;gJ. 
fhuzk; (R):  mjpf kf;fs; mlh;j;jp gFjpfs; goikahd FbapWg;Gf;fisAk; 
    nfhz;Ls;sJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A)apd; rhpahd tpsf;fkhFk; 
b. (A) kw;Wk; (R) ,uz;Lk; rhp. Mdhy; (R)> (A) apd; rhpahd tpsf;fky;y 
c. (A) rhp Mdhy; (R) jtW    
d. (A) jtW Mdhy; (R) rhp    
e. tpil njhpatpy;iy 
 

181. The world’s lightest satellite launched by India with 64 gms of weight is 
a. Kalpanasat   b. Kalamsat   c. Kaviyansat 
d. Kesansat   e. Answer not known 
64 fpuhk; vilAld; $ba cyfpd; kpff; Fiwe;j vilAs;s ,e;jpahthy; Vtg;gl;l 
nraw;ifNfhshdJ 
a. fy;gdhrhl;   b. fyhk;rhl;   c. fhtpad;rhl;  
d. Nfrd;rhl;   e. tpil njhpatpy;iy 
 

182. One of the following state do not come under ChotaNagpur Industrial Belt 
a. Jharkhand   b. Bihar   c. Odisha 
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d. Chhattisgarh  e. Answer not known 
gpd;tUk; xU khepyk; Nrhl;lhehf;G+h; njhopw;rhiy gFjpapd; fPo; tuhjJ? 
a. [hh;f;fd;l;   b. gPfhh;   c. xbrh   
d. rj;jP];fh;   e. tpil njhpatpy;iy 
 

183. Wind Energy potentials in Tamil Nadu are  
(i) Palghat Pass, Coimbatore 
(ii) Shencottai Pass, Tirunelveli 
(iii) Aralvoymozhi Pass, Kanniyakumari 
(iv) Arupukottai Pass, Virudhunagr 
Choose the correct one 
a. (i),(ii),(iv)   b. (i),(iii), (iv)   c. (ii),(iii),(iv) 
d. (i),(ii),(iii)   e. Answer not known 
jkpo;ehl;by; fhw;W Mw;wy; tsk; cs;s ,lq;fs; 
i. ghyf;fhL fztha;> Nfhak;Gj;J}h;    
ii. nrq;Nfhl;ilf; fztha;> jpUney;Ntyp    
iii. Muy;tha;nkhop fztha;> fd;dpahFkhp    
iv. mUg;Gf;Nfhl;il fztha;> tpUJefh;  
rhpahdtw;iwj; Njh;e;njLf;fTk;   
a. (i),(ii),(iv)   b. (i),(iii), (iv)   c. (ii),(iii),(iv) 
d. (i),(ii),(iii)   e. tpil njhpatpy;iy 
 

184. The length of the Son River is 
a. 843 Km   b. 784 Km   c. 719 Km 
d. 900 Km   e. Answer not known 
‘rd;’ Mw;wpd; ePsk; 
a. 843 fp.kP   b. 784 fp.kP   c. 719 fp.kP  
d. 900 fp.kP   e. tpil njhpatpy;iy 
 

185. The tributary which is not in connection with Kaveri 
a. Herangi   b. Shimsa   c. Kabani 
d. Kolar   e. Answer not known 
fhtphpAld; njhlh;gpy;yhj fpisejp 
a. n`uhq;fp   b. rpk;rh   c. fghdp   
d. Nfhyhh;   e. tpil njhpatpy;iy 
    

186. India signed MOU with United Nations World food programme to  hand over wheat to 
a. Tajikistan   b. Afghanistan  c. Pakistan 
d. Turkmenistan  e. Answer not known 
If;fpa ehLfspd; cyf czT jpl;lj;jpd; fPo; ve;j ehl;Lf;F NfhJik toq;Ftjw;fhf 
,e;jpah Ghpe;Jzh;T xg;ge;jj;jpy; ifnahg;gkpl;lJ. 
a. j[fp];jhd;  b. Mg;fhdp];jhd;  c. ghfp];jhd;  
d. Jh;f;Nkdp];jhd;   e. tpil njhpatpy;iy 
 

187. The Covaxin vaccine was manufactured by which Research Laboratory? 
a. Serum Institute, Pune   
b. Bharat Biotech, Hyderabad 
c. Rajiv Gandhi Centre for Biotechnology, Trivandrum 
d. Institute of Life Sciences, Bhubaneshwar 
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e. Answer not known 
NfhNtf;rpd; jLg;G+rpia ve;j Muha;r;rp epwtdk; cw;gj;jp nra;fpd;wJ? 
a. rPuk; epWtdk;> GNd    
b. ghuj; gNahnlf;> i`juhghj;  
c. uh[{t;fhe;jp caph; njhopy;El;g ikak;> jpUtde;jGuk;    
d. caph; mwptpay; epWtdk;> GtNd];th; 
e. tpil njhpatpy;iy 
 

188. Vinisha Umasankar is related to 
a. 5G Telecommunication  b. Waste Management c. Solar Ironing Cart 

d. Wind Energy Technology e. Answer not known 
tpdp~h ckhrq;fh; vjDld; njhlh;Gilath;? 
a. 5[p njhiynjhlh;G    b. fopT Nkyhz;ik  

c. #hpa xsp ryit ,ae;jpuk;   d. fhw;whiy njhopy;El;gk;  
e. tpil njhpatpy;iy 
 

189. According to the NCRB report, 2022 ___________ city is topped in drunken- drive 
fatalities of the year 2021. 
NCRB, 2022  
a. Ludhiana   b. Chennai   c. Delhi 
d. Mumbai   e. Answer not known 
NCRB> 2022 mwpf;ifapd;gb 2021 Mk; Mz;by; FbNghijapy; thfdk; Xl;b 
caphpog;gjpy; _______ efuk; Kjyplj;jpy; cs;sJ. 
a. Y}jpahdh   b. nrd;id   c. nly;yp  

d. Kk;ig   e. tpil njhpatpy;iy 
 

190. Which of the following is incorrect? 
(i) NPF - National Provident Fund 
(ii) DARE - Department of Agricultural Research and Education 
(iii) NCIP - Net Consumer Index Price 
(iv) WBCIS – World Bank Crop Insurance Scheme 
a. (i) and (ii)    b. (i),(iii) and (iv)  c. (ii) and (iii) 
d. (i) and (iii)    e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
(i) NPF -  Njrpa tUq;fhy itg;G epjp     
(ii) DARE - tptrha Muha;r;rp kw;Wk; fy;tpj;Jiw 
(iii) NCIP - epfu Efh;Nthh; FwpaPl;L tpiy     
(iv) WBCIS –  cyftq;fp gaph; fhg;gPl;Lj; jpl;lk; 
a. (i) kw;Wk; (ii)   b. (i)(iii) kw;Wk; (iv)  c. (ii) kw;Wk; (iii) kl;Lk; 
d. (i) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
 

191. India also joined other nations in announcing a net zero emissions target by the year 
a. 2070 b. 2030 c. 2050  d. 2060 e. Answer not known 
epfu G+[;[pa ckpo;T ,yf;if mwptpg;gjpy; kw;w ehLfSld; ,e;jpahTk; ,ize;jJ. 
______ Mk; Mz;by; G+[;[pa ,yf;if milAk; 
a. 2070 b. 2030 c. 2050  d. 2060 e. tpil njhpatpy;iy 
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192. Assertion (A): The AMRUT 2.0 scheme has been approved till 2025 -26, in order 
    to provide water supply and sanitation services to urban 
    households.  
Reason (R):  One of the aims Atmanirbhar Bharath is to make the cities water 

  secure. 
a. (A) is true but (R) is false    
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. (A) is false but, (R) is true 
d. Both (A) and (R) are true but, (R)is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): efh;g;Gw tPLfSf;F Rfhjhuk; kw;Wk; FbePh; toq;Ftij cWjp 
nra;tjw;fhf mk;Uj; 2.0 jpl;lk; 2025-26 tiu nray;gLj;j xg;Gjy; mspf;fg;gl;Ls;sJ. 
fhuzk;(R): jw;rhh;G ,e;jpahtpd; Nehf;fq;fSs; xd;whd midj;J efuq;fSf;Fk; 
FbePh; ghJfhg;G nfhz;litahf ,Uj;jy; 
a. $w;W (A) rhp Mdhy; fhuzk; (R) jtW    
b. $w;W (A) kw;Wk; fhuzk; (R) rhp> NkYk; fhuzk; (R) (A) $w;Wf;Nfw;w rhpahd 
tpsf;fkhFk;    
c. $w;W (A) jtW> Mdhy; fhuzk; $w;W (R) rhp    
d. $w;W (A) kw;Wk; fhuzk; (R) rhp> Mdhy; fhuzk; (R) (A) $w;Wf;Nfw;w rhpahd 
tpsf;fky;y    
e. tpil njhpatpy;iy 
 

193. The third Y20 Indonesia Pre-Sommit forum on the issue of a sustainable and Livable 
Planet continues on 22.5.2022, Sunday with discussions on the circular economy.  Based 
on AV.Kneese, 1988 the concept of circular economy is to 
a. Alleviate poverty    b. Reduce Famine 
c. Enhance youth employment      d. Use and reuse efficiently the resources 
e. Answer not known 
%d;whtJ Y20 ,e;NjhNdrpahtpd; cr;rp khehl;bw;F Ke;ija fUj;Jf;fsk; epiyahd 
kw;Wk; thof;$ba fpufk; gw;wpa tpthjk; Qhapw;Wf;fpoik (22.05.2022) tl;lg; 
nghUshjhuk; gw;wpa tpthjq;fSld; njhlq;fpaJ. AV. fPdP];> tUlk; 1988 mthpd; 
$w;Wg;gb tl;lg; nghUshjhuk; ______ gw;wpaJ.  
a. tWik xopg;G     
b. gQ;rj;ij Fiwg;gJ   
c. ,isQh;fspd; Ntiytha;g;G Nkk;gLj;Jjy;    
d. tsq;fis jpwikahf gad;gLj;Jjy; kw;Wk; kW gad;ghL nra;jy;  

e. tpil njhpatpy;iy 
 

194. The political party founded by Shri Jayaprakash Narayan in 1977 was 
a. Praja Socialist Party     b. Bharathiya Janatha party 
c. Rashtriya Janatha dal     d. Janatha Party 
e. Answer not known 
jpU. n[agpufh~; ehuhazdhy; 1977 y; njhlq;fg;gl;l murpay; fl;rp 
a. gpu[h Nrhrpayp]f; fl;rp     b. ghujpa [djh fl;rp 
c. uh~;l;hpa [djh js;     d. [djh fl;rp 
e. tpil njhpatpy;iy 
 

195. Which was the last book written by Stephen Hawking? 
a. The Grand Design    b. Brief answers to Big Questions 
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c. A Brief History of time    d. George and the Big Bang 
e. Answer not known 
gpd;tUtdtw;wpy; ];Bgd; `hf;fpq; vOjpa filrp Gj;jfk; vJ? 
a. jp fpuhz;l; bird;   b. gphPg; Md;rh;]; ^ gpf; nfh~d;];  
c. v gphPg; `p];lhp Mg; ilk;  d. [hh;[; mz;L jp gpf; Ngq;   
e. tpil njhpatpy;iy 
 

196. Nehru Yuva Kendra Sangathan (NYKS) was launched in  
a. 1970  b. 1971 c. 1972  d. 1973 e. Answer not known 
NeU Ath Nfe;jpuh rd;fjd; (NYKS) Jtf;fg;gl;l Mz;L 
a. 1970  b. 1971 c. 1972  d. 1973 e. tpil njhpatpy;iy 
 

197. A Buddhist Monastery, dating back to 2nd and 4th century A.D. was excavated at 
_______ city of Gujarat State by the Archaeology department 
a. Vadodra    b. Ahmedabad   c. Surat 
d. Vadnagar    e. Answer not known 
fp.gp. 2k; kw;Wk; 4k; E}w;whz;L fhyj;jpa ngsj;j klhyakhdJ F[uhj; khepyj;jpd; 
_______ efhpy; mfo;thuha;r;rp Jiwapd; %yk; fz;Lgpbf;fg;gl;Ls;sJ. 
a. tNjhj;uh    b. m`kjhghj;   c. #uj;  
d. thj;efh;    e. tpil njhpatpy;iy 
 

198. Modern Odisha was formed in the year 
a. 1932 b. 1934  c. 1936  d. 1938 e. Answer not known 
etPd xbrh _______ Mk; Mz;L cUthdJ 
a. 1932 b. 1934  c. 1936  d. 1938 e. tpil njhpatpy;iy 
 

199. National centre for Antarctic and Ocean Research is situated in 
a. Mumbai   b. Goa   c. Kochi 
d. Vizag   e. Answer not known 
mz;lhh;bf; kw;Wk; Mo;fly; Muha;r;rpf;fhd ,e;jpa Njrpa epWtdk; mike;Js;s ,lk;  
a. Kk;ig   b. Nfhth   c. nfhr;rp   
d. tprhfg;gl;bdk;  e. tpil njhpatpy;iy 
 

200. Gram Panchayat Development Plan Award was introduced during the year 
a. 2016 b. 2017 c. 2018  d. 2019 e. Answer not known  
fpuhk gQ;rhaj;J ‘tsh;r;rp jpl;l’ tpUJ mwpKfg;gLj;jg;gl;l Mz;L 
a. 2016 b. 2017 c. 2018  sd. 2019 e. tpil njhpatpy;iy 


